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Q.1 frm=ferfEa ust d fag 7y faeredt d 9 faww srerr/srer™l ot gl
Ans X' 1 NRV

/X 2.6K0

/5 3.AEl

o 4.BFK

[ Question ID : 54062614490

Q.2 Uk igehA fean man 8, foras @ g ue o 1 g g farenedl d @ ag @@t fenea gfvg, sit
STIehH Rl TRT &3

VLM47, ZGH41, DBCY, ?, LRS49
Ans  of 1 HWX55

75 2. HWX57

/X 3.HIX41
75 4. HX41

Question ID : 54062614489

Q.3 U igehA feam mat 8, fored @ g ue g 81 fag g et d @ ag @@l faerea gfag, sit
SIehH i QRT eI

RNA, SLD, TJG, ?, VFM
Ans X" 1.UGJ

5 2. UHI
o 3.UHY
X 4.0

Question ID : 54062614488
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Q.4 A BR15fh . uffmdgic, K& 10 frH. gdd 1B, K@ 20 fah.ft. srA&1H,C &5
for. Y. afor A g1 N, A @ 27 fp. . af@or 7 &1 K, A @ foRaft g k@ aur H, B 9 fora faem &
&

Ans X" 130 R, SRURE
of 2. 25 fnsf, zfRrorgd
/X 3.30 fraft, efaorgd
7< 4.25 R, Iw-ufgE

Question ID : 54062614504

Q.5 U 3rgshH fear maT &, s @ ues ug e g1 fw g fareped # @ 99 71t U Rt gfagl

136, 112, 248, 360, 618, 968
Ans X' 1.968

o 2618
X 3112
/X 4.248

Question ID : 54062614500

Q.6 faferf@a ust 7, & wft sj@en & § e sepfa a6t g
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LIk 1]4 1|E sl r|g
F|J Lls glr || a]3 101

Hi:
Ans _=|
X1 1|1
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L
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4. | e

< Klr
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Question ID : 54062614505
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Q.7 2w 7q us o HUT 3R I A18 I HYAl R e §o fasad feg g &1 g g
HY=l Rt TEY AT, T1@ ITH AT A9 T2t @ Fh=7ar gt Gt fAsed ud ez R fAuffRa
for frg g =1 @ fosepd, fog g Ryl & oy R giRAETE 1

HYT:
|. T TdHh, FREI
I1. &S off geh, IR T 81

foreen:
1. 94t oo, arden €1
Il. B FIR, aTdh &1

Ans X" 1. ST s | T 11 SRR oa &
of 2. dae e || argeRor awar &
75 3. et Frsed | SRTERT el &
7 4. g of Frsen srgeRor T e @

Question ID : 54062614497

Q.8 TgwsfRalF L, M, P,RauT T & 3ichl Rt g Y wft &1 dhaet oY srsferal & oic P A ww &1 R
AT T & 3ich P @ 3ifdehs @ AfhT F @ 7 81 M & 3ich foreft @ oft orfdes =i 21 &t oft &t
wisferal et aaTa i 7 ure gq 8| Fraforfea 7 @ s ar sua ad 82

Ans X" 1. L& ik P9 aifte §
o 2. TR M s 70 P & st 72 @ e &
75 3.7 & o R A o g
75 4. wsfnal & sin R & oifdeh &

Question ID : 54062614495

Q.9 wraasfat A, B, C, D, E, F auT G g i 3k 7 ek Geh geieniz Aot & 3&-fié a8t g€ &
(5= g Fr st Fa A 811 A, G F et SR FeR ®ITTwR 81 D, A & R el SR 81 B, F &
ardff ok gER RITA W 81 F, E i Frepeam usi<h 76 &1 C & andi ik FfieR w1 w2 i= 361 g
8?7

Ans X1 E
X 2.A
W 38
X 4D

Question ID : 54062614494
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Q.10 &g MQ a7 oM@ & SR w, fr=faf@a & @ et a1/@ wu= ad 2/82

8

-
Sccll

. Ig deat St Uthe g @, hY =T 23 §1
1. ag i STt gt &, <t T 17 81

Ans X" 1 e
K 2@ Iad
75 3. 1@ @

o 4 Faa

Question ID : 54062614502

Q.11 &g g w1t st Aiew R, FA=faf@a d @ Hta @ g9 9918 S Jahd 82

AlL

Ans X1 UtV

25 2. @i
o 3.1
F EAEEY

Question ID : 54062614507
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Q.12 fr=fofEa ust & & 78 sj@en d @ qu sie w19 FifSq)
24, 48, 96, 7, 384, 768
Ans X' 1 184
75 2,144
o 3192
75 4.240

Question ID : 54062614499

Q.13 Uek fafye stz W &, ‘GA + MB'’ <Rl ‘23’ for@T SITar @, 'TO + LK’ &Y '58’ forar sirar 8139
hIS UTUT & ‘GR + AZ’ <Al hiS T &7

Ans X147
/X 2.48
o 352
X 4.57

Question ID : 54062614493

Q.14 A g 7Q u & Fo FYT R IS a1 39 FYUH R nurfd g fAswd fyg g &1 fag g
HYH I TE A, TG ITH FIATT AT dat & FAFar g @t fosnd o eitz fnr fRruffra &
for fw g @Y @ faserd, fag g hu=T & smenk wR gfRea €1

hY-:
.96t N, W&l
I.EHW, T8l

foreen:

I. S o T, N 78t 81
I.FsW, T T &1
. FSN, T &l

Ans X 1. et forsene Il SIEROT AT
o 2.3 frsad | e 11 srgeRor awa &
25 3. 1 oft e argeror 8 aeet
25 4.3 frsand | @ Il SiEROT &R &

Question ID : 54062614498
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Q.15 & 7 SR il | § 39 IR Siiephar at gfg o & wsr srepfar fAfga @1
TSt STTeRfa:

Ans
X1.

X
e
=

Question ID : 54062614506

Q.16 feRe= et =11 g1 S & 71 g1 At 82
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M 18
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alaka 4]

e e T
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Ans X' 1.3
528
W32
F N

Question ID : 54062614501
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Q.17 Rohan starts walking in north direction. He turns right and walks x kms. He turns
left and walks y kms. He finally rotates by 45° in anticlockwise direction. In which
direction is he facing now?

Ans X 1. South-west
x 2. South-east
X 3. North-east

«. 4. North-west

Question ID : 54062614503

Q.18 fmferf@a ust d, s1e13i 1 Uah g feam mar &1 udes T9g & 318 S 9vg & el & a1y
fora adh/frmm /<y @ wefda g1 fad g faeredl & & srer™l ol g w3g &t gfg <t a@ T adh/
fora/<ieie T STTERYT el B

(AMP, GHW, MCD)
Ans X" 1. (MKB, SFI, XAP)
75 2.(0PQ, UKX, AEE)
75 3. (LCW, RXD, XSL)

o 4.(IGT, 0BA, UWH)

Question ID : 54062614492

Q.19 f=fafaa usr & g g faeredt & & weifoa srerd = gfam
AS:DX:RK:?
Ans (1.Up
X 2.uQ
75 3.vpP
< 4.vQ

Question ID : 54062614491

Q.20 Five persons P,Q, R, S and T worked in one bank from five banks B1, B2, B3, B4 and B5
(not necessarily in the same order). Each of them were posted in one location from
L1,L2,L3,L4 and L5 (not necessarily in the same order). No two persons worked in
same bank and not posted in same location. No two banks are at same location. R
was not working in B3 and B4 and he was not posted in L1 and L5. T was working in
B5 and he was not postedin L3 and L5. Q was posted in L2. B2 bank was located in
L1. B3 bank was not located in L5. Q was not working in B4. S was not postedinL3. P
was not postedin L4 and L5. Which of the following combination of person, bank,
locationis correct?

Ans X' 1.Q,B5, 12
o 2.5B4,15
/< 3.R,B4,13

/X 4.R,BS5, L4

Question ID : 54062614496

Section : General Awareness
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Q.1 2018 AgHsw @l HY ATt fora Far A oft?

Ans

W 1. s
X 2 zshidis
/X 3.50E
X 4. =Ter

Question ID : 54062614526

Q.2 gHEF &1 GEATHT hgl (AT 8?

Ans

751 e
X 2.9R=
25 3.9
V 4.7t

Question ID : 54062614523

Q.3 Which of the following pair of mirror — use is correct?

Ans

l. Convex — side view mirror
Il. Concave — dentist

75 1.0nly i

o 2. Bothland I
x 3. Neither I nor Il

#< 4.0nly|

Question ID : 54062614514

Q.4

Ans

Which of the following statement(s) is/are NOT true in respect of Issuance of

currency in India?

I. Coins are minted by the Reserve Bank of India.

Il. The Central government is the agent for distribution, issue and handling of coins.

o 1.Bothland I

75 2.0nlyl
75 3.0nly I

X 4. Neither I nor I

Question ID : 54062614510

75 1wy
X 2. SR
75 3. 7R

o 4 axa

Question ID : 54062614508
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Q.6 Which is the largest gland in the human body?
Ans X" 1. Thyroid

x 2. Pituitary
x 3. Thymus

( 4. Liver

Question ID : 54062614512

Q.7 fr=faf@ad & ot +ft ges Ry H ggras a& &2

|. SIT&RR
I1. R
. st
Ans o 1 | Il
P S A
/X 3. 1@
X 4@l

Question ID : 54062614517

Q.8 Which of the following pair is correct?

I. Endogenic force — Landslide
1. Exogenic force — Volcano

Ans  of 1 Onlyl
75 2.0onlyl

75 3.Both land Il

x 4. Neither I nor Il

Question ID : 54062614515

Q.9 IRd # ugel! et shus et srgl wrfte gg ot
Ans o 1 TE

/X 2. g

X 3. ¥wmEE

75 4w

Question ID : 54062614519

Q.10 Which of the following pair of tournament - sports is correct?

I. Ryder Cup - Golf
Il. UEFA Champions League — Football

Ans x 1. Neither I nor Il

x 2.0nly |

o 3.Bothland

75 4.0nly I

Question ID : 54062614527
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Q.11 Varuna 2021 naval exercise was held between India and
Ans o 1 France

x 2. Japan
X 3.USA
/< 4. ttaly

Question ID : 54062614521

Q.12 2020 =T o= GRERIR Foha= sfiar?
Ans X 1. aafy aht

/X 2. mr AR

/X 3.8 R

o 4 sEE e

Question ID : 54062614522

Q.13 M AER R ______ @ Hafda gl
Ans X1 3w

p RICH

o 3 RfEm

/X 4. e

Question ID : 54062614509

Q.14 Article 361 of Indian constitution is related to

Ans X" 1. Proclamation of emergency
“ 2. Protection of President, Governor and Rajpramukhs
x 3. Effect of proclamation of emergency

x 4. Power of parliament to amend the constitution

Question ID : 54062614525

Q.15 Which of the following statement is not true about monopolistic competition?

Ans X" 1. Number of firms is large
x 2. Free entry of firms
x 3. Goods produced by them are not homogeneous

( 4. The demand curve faced by the firm is perfectly elastic

Question ID : 54062614511
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Q.16 Which of the following is a simple tissue?

I. Xylem
1. Phloem

Ans X" 1 Only |

#< 2.Bothland |l

75 3.0nly I

( 4. Neither I nor Il

Question ID : 54062614513

Q.17 Which of the following pair of schedule — contents of Indian constitution is
correct?

I. Third — Allocation of seats in council of states
Il. Eighth - Languages

Ans  of 1 Onlyll

#< 2.Bothland Il
x 3. Neither I nor Il

75 4.0nly|

Question ID : 54062614524

Q.18 Which of the following statement is correct?

I. Air pressure is lowest at sea level.
I1. Air always moves from high to low pressure areas.

Ans  of 1 Onlyll

75 2.0nly|

75 3.Bothland Il
x 4. Neither I nor Il

Question ID : 54062614516

Q.19 FoR &t 73TE fopw af A g€ off?
Ans X' 11863

/X 2.1857

X 3.1757

o 21764

Question ID : 54062614520

Q.20 Agfere ura: wgl W foredt st oft?
Ans x1qg|g°[

25 2. @

W 3.

75 4.weR

Question ID : 54062614518
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Section : Arithmetic Ability

Q.1 (1.17)2 - (1132 ST AT /T &2
Ans X' 1192

/X 2.092
/< 3.1.092
o 40092

Question ID : 54062614528

Q.2 U IR U+ fAuifya awg @ 18 fame ugs feedt ¢ wifer 102 f3p. . g7 oru= fidea =T w

ara § g & forg 3@ eroeit wram=g nifa & 9 fop. Y. /dier &t oot et wSht ) emre Y W=
nfe 82

Ans X" 145 s Hy/efer
75 2.30 fnsfi/sier
/X 3.70 fnafi/ser
o 4. 60 fnsf/ear

Question ID : 54062614540

Q.3 sy AU FRITRY T 20 wfiere @ svdr @1 a8 AW YT 1 60 uferRrd Sk J STHT &1 a1 81
TfE 36 urd 1120 FU8 =1 g &, dt SHeh Urd AR A fahast iR off?

Ans o 1 3500 7T
/< 2.3200 373
/< 3.3300 308
/X 4.3400 373

Question ID : 54062614535

“ EE w8
S, dur & ¥ @i T e T asr 8
FIis W

Ans -?

15

5
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[a—

8
9
3

1
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—

Question ID : 54062614532
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Q.5 385, 2750 T fera=r ufara &2

Ans  of 1 14
X 2.16
/X 318
K412

Question ID : 54062614534

Q.6 Ueh a¥g ohl 1584 FUA T 12 uferera Y g1f~ wR = iran g1 afE 5@ 2070 Fud a1 3= s1id, &t
AT ufaerd o 82

Ans X" 1.20
v 215
K312
X 418

Question ID : 54062614536

Q.7 Ueh aafwh fopedt fAfya afr st 12 uferera &Y anfifes 23 @ grumor sarsr wR IR a1 @ a3t 7 auf
o ured ferar T TSt SUR &) 1 AfA @ 320 FUd A g1 SUR & 7E afA a7 @2

Ans o 1 2000 7Td
/5 2.2660 3uR
/X 3.1920 303
75 4.1800 303

Question ID : 54062614539

—

Q.8 Uah 3rad hl wvars STeh! dters 4 8 .+, aifdes @1 afe wvard aur wters o1 ain 32 .41 g, at
T kT &A=l RIT gIM?

Ans &K1 48 A2
o 2.24033#2
75 3.96 4?2
/X 4180 @2

Question ID : 54062614543
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Q.9 AGUTBUh ki sl 8 e A e Geha €1 BaUT C S shrd sl 10 e d e Wearad @1 C auT A
I &hrd R 12 fE7 A R Tehd &1 B 31ehedT I &1 <hl fohan f&w & R epan @2

Ans 240

Ko =
120
w
120
17

< 2

X 3

240
L7

v &

Question ID : 54062614542

Q.10 M aur N & fare |1t & forg 7M5285N, 8 @t 9 & fawnfSia gt
Ans " 1.(5,3)

Question ID : 54062614531
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Q.11 == far mar Far R 6 wr<at A geeul &Y dwean i g2rfar 81 ges fafe wsa & geut 6 ww@n

Ans

Y Gt 6 Ireal 7 g=ul it et =T & uferd & wa J geafar wr g

30
20
15
2 13
10
P Q R S T U
Prafafea & & @7 a1/ wu= ad /2

I. U # ge=ui &Y S, Q 7 geeut i T & 13.33 ufaza &4 g1
II. P # g&ul &Y §at &1 T | geul il §@ar & 5 : 3 &1 sigquida 81

X 1. FE=ll
K 2@ ad
o 3.1 g
/X 4. el

Q.12 Qe a%g &1 3ifhd e 3400 vu g1 I avg =1 fasha e 2720 Tud @1 e ufasra & g?

Ans

K125
K 2.15
o 3.20
K 412

Question ID : 54062614546

Question ID : 54062614533

Q.13 1.2%0.24 + 5% 0.12 x 3.6 T HI-T T &?

Ans

/X 1.12.48

/X 2144714

of 3.2448
/X 4.24.48

Question ID : 54062614530
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Q.14 afEP:Q=2:3,Q:R=1:2aUTR:S=3:4,a P:R:S &I AT T &?
Ans  of 1134

K 2.1:4:4

/X 3.3:4:1

X 4.4:3:1

Question ID : 54062614538

Q.15 i & weft anferest 9 garr=l d et i ww=ar & gafdt @1
St @ gEar
76
84
90
120
280
140
460

118
ol

1

—| T G| = | D o] |

frmfofEa & @ o= o1 = ag =di 82
Ans X" 1 A, B, HauT | & dide 4 aitad wer 92.5 &
75 2. D & st &1 G, F A sl < S § 14.28 iREe &
o 3.E F D & diet &1 g s 612 &
75 4. F a1 G & dideil &1 gt G &1 D T C H aiciell o ghel T ohl 3T 20 1 7 &

Question ID : 54062614545
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Q.16 == faar mar @R arwh 8 warrsi A HFaT Y AT wt g2fan 31

120
10 1] =

frafafEa 7 @ &= a1/8 sy a8 78 8/8)
I. B & iRt & Tz, F 7 SR Y d@war @ 29.73 ufeee oifdes 21
1. ufer gerr it i sitea T 88.25 81

LU ST
/X 2. e |

of 3. F=ell
75 4. 1@ @

Question ID : 54062614547

_—

Q.17 ger ¥t 1 sk gEta atscher 880 |.##.2 21 af Ao it Fars 10 A1, @, &t dera &t et g
&l5The /T gim?

Ans  of 1 211287
/X 2.1872@#2
/X 3.1532@#2
/X 41760 2

Question ID : 54062614544

Q.18 fr=afofe@ad & o= a1 sy &l 82

I. Ueh e &t @vars 800 iR &1 af uar 1200 Hier & I 5 40 Yepves d uR &R
Tehell &, A ISt & nifer 180 s, Y. /eier 21
1. afE ger st 25 Qepvs A 400 R 79 & Gehell @, dt Mt <k nfey 45 fop. . /der 81

Ans  of 1 el
25 2. Faw
75 3. 1@ @
F e

Question ID : 54062614541
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Q.19 3} Sx=Arai o1 srgura 5 : 9 §1 af g1 wTail o1 gl 420 g, &t gl Sarsi # @ sié |
T &2

Ans X" 1270

< 2.30
o 3.150
75 4.420

Question ID : 54062614537

Q.20
s=+7i19lypylyqal @ ww g
2 4 & 8 8

Ans x1. E
10

. 817
XZ-E
Kol
viZ

Question ID : 54062614529

Section : General English

Q.1 The following sentence has been divided into four parts as given in options. Select
the option that represents the grammatically erroneous part of the sentence.

The Department of Commerce(1)/ organised (2)/ a four days seminar (3)/ from 21st
March to 24th March. (4)

Ans X" 1. organised
J 2. a four days seminar
x 3. from 21st March to 24th March.

x 4. The Department of Commerce

Question ID : 54062614551

Q.2 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

Abullin a china shop
Ans x 1. To endure the shock of

x 2.To pass a judgment
x 3. To make a wrong choice

J 4. A rough and clumsy person where care and skill are needed

Question ID : 54062614561
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Q.3 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

With the growing (1)/ expenses, | am not able (2)/ to meet the both ends. (3)/ No
error (4)

Ans X" 1. expenses, | am not able
J 2.to meet the both ends.

x 3. With the growing

x 4. No error

Question ID : 54062614548

Q.4 Choose the word that is opposite in meaning to the given word.

Articulate
Ans x 1. Loquacious

75 2.Voluble
J 3. Halting

x 4. Photogenic

Question ID : 54062614557

Q.5 Choose the word that means the same as the given word.

Bulky
Ans X 1. Soothe

75 2. simplify
( 3. Enormous

x 4. Tender

Question ID : 54062614556

Q.6 Choose the word that can substitute the given sentence.

A group of applauders i.e. paid to clap
Ans J 1. Claque

x 2. Brace
x 3. Community

x 4. Decorum

Question ID : 54062614562



https://t.me/DSSSBTEACHERS1

Q.7 Rearrange the parts of the sentence in the correct order.

P: and Great Britain have held sway—notably in

Q: Taiwan, South Korea, the Philippines, and India
R: flourished wherever the United States
S:alocal comics industry in native languages has

Ans X' 1 SPQR
o 2.srPQ
/< 3.PQSR
/X 4.SRQP

Question ID : 54062614555

Q.8 Inthe given question, four words are given out of which one word is incorrectly
spelt. Choose the incorrectly spelt word.

Ans X 1.Brussels

x 2. Hinge

( 3. Comprehansion

x 4. Drainage

Question ID : 54062614559

Q.9 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select No improvement.

I am worried; | may be little protected against all these variant.
Ans X" 1.No Improvement

X 2. low
x 3. least
( 4. less

Question ID : 54062614550

Q.10 A sentence has been given with a blank to be filled with an appropriate word/words.
Choose the correct alternative.

The chapter in the science book is related to diseases.

Ans X" 1. older

X 2. least
J 3. last
x 4. rear

Question ID : 54062614553
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Q.11 Find the part of the given sentence that has an errorinit. If there is no error,
choose ‘No error’.

Modern cities pulsate (1)/ of life, whatever the (2)/ time of the day. (3)/ No error (4)
Ans J 1. of life, whatever the

x 2. time of the day.

X 3. Modern cities pulsate

x 4. No error

Question ID : 54062614549

Q.12 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To cry over split milk

Ans J 1. To lament over what cannot be changed
x 2.To dieduring war
X 3. To becareless

x 4. To weep heavily, suddenly

Question ID : 54062614560

Q.13 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

Social workers are doing a great job by helping ______ children.
Ans X" 1. notorious

X 2. deficient
J 3. unprivileged

X 4. greedy

Question ID : 54062614552

Q.14 Rearrange the parts of the sentence in correct order.

Fair Trade coffee, part of the

P: particularly in the poorer regions of the coffee-growing world, are paid a fair price
Q: ensure that coffee is harvested and processed without child

R: labour and dangerous herbicides and pesticides and that growers and exporters
S: larger Fair Trade movement, arose to

Ans X" 1 RQPS
75 2.PSQR
/5 3.RPSQ
o 4.sarP

Question ID : 54062614554
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Q.15 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X 1 Straightt
« 2. Straight
x 3. Straeght
x 4. Steraight

Question ID : 54062614558

Comprehension:
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten
disease, rare and fatal neurodegenerative disease that begins in childhood. T he disease is
named for British physician Frederick Batten, who in 1903 described the cerebral
degeneration and macular changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now
become the term to describe all forms of NCL. T he basic cause, progression, and the
outcome are the same. The forms of NCL are classified by age of onset, and eight different
genes [CLN1 - CLN8] have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid
lipofuscinoses (NCLs), a group of inherited lysosomal storage disorders, the primary
feature of which is progressive neurodegeneration with cognitive decline, loss of motor
ability, worsening seizures, and early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the
earliest symptoms is vision impairment, which is followed by a regression in development,
often characterized initially by a loss of previously acquired speech skills and an inability to
learn new skills.

As the disease progresses, the affected individual experiences a further loss of
communication skills as well as a loss of motor function, causing slow and stiff
movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular
problems, and behavioral problems also emerge. Affected individuals typically survive only
into late adolescence or early adulthood.

SubQuestion No : 16
Q.16 What can be the suitable title for the given passage?

Ans J 1. Batten disease and its course
x 2. Symptoms of Batten disease
X 3. Batten disease

x 4. Characteristics of Batten disease

Question ID : 54062614564



https://t.me/DSSSBTEACHERS1

Comprehension:
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten
disease, rare and fatal neurodegenerative disease that begins in childhood. The disease is
named for British physician Frederick Batten, who in 1903 described the cerebral
degeneration and macular changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now
become the term to describe all forms of NCL. T he basic cause, progression, and the
outcome are the same. The forms of NCL are classified by age of onset, and eight different
genes [CLNT — CLN8] have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid
lipofuscinoses (NCLs), a group of inherited lysosomal storage disorders, the primary
feature of which is progressive neurodegeneration with cognitive decline, loss of motor
ability, worsening seizures, and early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the
earliest symptoms is vision impairment, which is followed by a regression in development,
often characterized initially by a loss of previously acquired speech skills and an inability to
learn new skills.

As the disease progresses, the affected individual experiences a further loss of
communication skills as well as a loss of motor function, causing slow and stiff
movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular
problems, and behavioral problems also emerge. Affected individuals typically survive only
into late adolescence or early adulthood.

SubQuestion No : 17

Q.17 As per the given passage, at which age Batten disease manifests in children?

Ans

f 1. Between ages 4 and 10 years.

x 2.10years
x 3.4 years

x 4.4 years and 10 years

[ Question ID

1 54062614565
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Comprehension:
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten
disease, rare and fatal neurodegenerative disease that begins in childhood. The disease is
named for British physician Frederick Batten, who in 1903 described the cerebral
degeneration and macular changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now
become the term to describe all forms of NCL. T he basic cause, progression, and the
outcome are the same. The forms of NCL are classified by age of onset, and eight different
genes [CLNT — CLN8] have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid
lipofuscinoses (NCLs), a group of inherited lysosomal storage disorders, the primary
feature of which is progressive neurodegeneration with cognitive decline, loss of motor
ability, worsening seizures, and early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the
earliest symptoms is vision impairment, which is followed by a regression in development,
often characterized initially by a loss of previously acquired speech skills and an inability to
learn new skills.

As the disease progresses, the affected individual experiences a further loss of
communication skills as well as a loss of motor function, causing slow and stiff
movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular
problems, and behavioral problems also emerge. Affected individuals typically survive only
into late adolescence or early adulthood.

SubQuestion No : 18

Q.18 Which of the following word best expresses the antonym of ‘progression’?

Ans

x 1. Advance

x 2. Attainment

x 3. Nexus
\"'4. Relapse

[ Question ID

154062614567
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Comprehension:
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten
disease, rare and fatal neurodegenerative disease that begins in childhood. The disease is
named for British physician Frederick Batten, who in 1903 described the cerebral
degeneration and macular changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now
become the term to describe all forms of NCL. T he basic cause, progression, and the
outcome are the same. The forms of NCL are classified by age of onset, and eight different
genes [CLNT — CLN8] have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid
lipofuscinoses (NCLs), a group of inherited lysosomal storage disorders, the primary
feature of which is progressive neurodegeneration with cognitive decline, loss of motor
ability, worsening seizures, and early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the
earliest symptoms is vision impairment, which is followed by a regression in development,
often characterized initially by a loss of previously acquired speech skills and an inability to
learn new skills.

As the disease progresses, the affected individual experiences a further loss of
communication skills as well as a loss of motor function, causing slow and stiff
movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular
problems, and behavioral problems also emerge. Affected individuals typically survive only
into late adolescence or early adulthood.

SubQuestion No : 19

Q.19 Which of the following statements is true according to the given passage?

Ans

x 1. Person suffering from this disease has a tendency to survive in old age.
\f 2. The forms of NCL are classified into eight different genes.
x 3. Batten Disease is usually regarded as the traditional form of NCL.

x 4. Batten disease mostly begins at the age above 14 years.

[ Question ID

154062614568
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Comprehension:
Read the following passage carefully and answer the given questions.

Batten disease, also called Spielmeyer-Vogt-Sjogren-Batten disease or juvenile Batten
disease, rare and fatal neurodegenerative disease that begins in childhood. The disease is
named for British physician Frederick Batten, who in 1903 described the cerebral
degeneration and macular changes characteristic of the condition.

Although Batten Disease is usually regarded as the juvenile form of NCL, it has now
become the term to describe all forms of NCL. T he basic cause, progression, and the
outcome are the same. The forms of NCL are classified by age of onset, and eight different
genes [CLN1 — CLN8] have been identified as causing the disorder.

Batten disease is among the most commonly occurring of the neuronal ceroid
lipofuscinoses (NCLs), a group of inherited lysosomal storage disorders, the primary
feature of which is progressive neurodegeneration with cognitive decline, loss of motor
ability, worsening seizures, and early death.

Batten disease manifests in childhood, typically between ages 4 and 10 years. One of the
earliest symptoms is vision impairment, which is followed by a regression in development,
often characterized initially by a loss of previously acquired speech skills and an inability to
learn new skills.

As the disease progresses, the affected individual experiences a further loss of
communication skills as well as a loss of motor function, causing slow and stiff
movements and difficulty walking. Recurrent seizures, disordered sleep, cardiovascular
problems, and behavioral problems also emerge. Affected individuals typically survive only
into late adolescence or early adulthood.

SubQuestion No : 20
Q.20 Which of the following is NOT the symptom of the Batten disease?

Ans x 1. Cardiovascular problems
X 2. Vision impairment
x 3. Loss of voluntary function

( 4. Orderly sleep

[ Question ID : 54062614566

Section : General Hindi

Q.1 frfofRa areal d @ Ty area ara fifsgl
Ans X 1. O g T8 gred B

25 2. g T =g & wifes g @em g1

/X 3. g aren 7 e ATer 81

of 4. dar g T R, foheg Tem 81

Question ID : 54062614579

Q.2 fag g e} Y d@f forede wira RSl
e
Ans X1 3o+ e
o 2.5+
X 3.3+ 59
X4.3€r+<‘vrr\=r

Question ID : 54062614569
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Q.3 W4T ez S e 22
Ans  of 1 s

X 2.

75 3.
/X 4. wsige

Question ID : 54062614576

Q.4 fag g area d Iugh fora fRig o1 @+ RifSigl
AT 10 12 F=ai &l The A UaT & forg FamR &= ferani

Ans x1

Question ID : 54062614580

Q.5 fau g eregl A erepdfen foraT wiTa RfSigl
Ans K" 1 el

X 2. 9am
75 3. Rt

o 4

Question ID : 54062614570

Q.6 f&u Ty 2reg a1 foets 2reg TiTd RfSIQI

sfa
Ans (1.\3{%1
K 2.8
/< 3.3
X 4

=

Question ID : 54062614572

Q.7 fg g areriar & forg 3fAq ereg 1 =g fifSg)
g ATE HuTTelt fOreH ST |TerRoT 1 e gt
Ans X" 1 gt
o 2. v
75 3. ufe
/X 4. e

Question ID : 54062614574
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Q.8 f=fefRa uer |, fag ng o= faeredt & 9, 39 faerea &1 g+ 3 51t fiw 19 geTer & oref il
9IS &9 Q =< el gl

SR HT TS UTT
Ans X" 1. grgel GRT aRAT
7 2. REhR &
#< 3. &
o 4. srwra arf g

Question ID : 54062614582

Q.9 faQ Y 2reg a1 gafaars ereg w1d HifSql
a1
L SR
X 2.
X 3.8Ra
W 4 =R

Question ID : 54062614573

Q.10 fam=foaf@a areat d @ g a1 &1 =g= fifsigl
Ans X" 1. 3R, ot o STl

o 2. R a5 =T s

/X 3. 3R AR

75 4. 3R, 7 e STl

Question ID : 54062614578

Q.11 fu 7q are & Iug=h farra fRig @ ag= fifsigl
el A ATRR Sl &Y IugR & FU H o faar
Ans X1 sigfrm
/X 2. sreafRm
o 3 vsErE

X 4. gofferm

Question ID : 54062614581

Q.12 I 9T A Tehe= &7
Ans o 1 urft

P R
25 3. o

X 4.5fig

Question ID : 54062614577
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Q.13 fam=ferf@e usr d, fig mg ar fawedl 7 |, 39 fase o1 a9 &= w1t fig g garar & ordf &t
9IS &9 Q =<h &l gl

goord WR Ut foR=Ar
Ans o 1 oot @R FRAT
75 2. Fe@ler
X 3@
< 4. g A g

Question ID : 54062614583

Q.14 fag Qg arery d sremg ATa HifSigl
A A 37 @ o1 aretr U1 wReg ag Al AT
Ans X1 deueiee
75 2. ufmToraTee B
W 3. TR
75 4. wymaTe B R

Question ID : 54062614571

Q.15 g ereat 7 gpeg aeiit o1 T+ RifSigl
Ans X1 s

VEE

X 3.3

< 4. amg

Question ID : 54062614575
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Comprehension:

fAfefEa Terier ot ermgde ud ofRk &g Y Ui & I <

ORI YR & UG de R [T &1 ToRTd 1 3Aard $9dT gd oTeHT 2000 I GRHT & I o J141 STt
& 3R AT SuT FYRT Biga TRTSE o UfYH! d¢ UR ST a9, STt gIRal ITHT HAGR el | 18 & asf J
A, 7T, UfAgR a7 ST Sk IeTd el 3 59 TRST UR 31T fohdT | ITerd (Sietet) TSI ahT QITI-ehIet
ORI H WATfd SR T o1 i AT STISTIET & Ugel oA I IdH &7 70 ¥ I & 9T A sl oT- T
forfear &3 ofk gErT 3t Ramad | 54 & gvfad & sRUT ARTS & 15T 3R e oh chaMTid UekT h
a1y gd fafer Torma @t feres it s a1 T gaml uget 78, 1960 &t g A ToRTd IS
ST & ST ORI T el AT 196,024 T fhetiwiex &1 Fgert et 3R aocreig ued S
3R & 7 I TR FeTd! §1 ORI HU, delTgy 3R HITthefl el FTET i GTell 237 hl TG 4 § |
& I 31T ABAYUT Aehdl Helcl o gaa, U, Ng R ITORTI 5T # Ydeld STet T HHTd STl gRT
et TS &T77aT 64.88 TG gaRIR Sieh 718 ¢ 1T TReR TRIAR (7ar) aRISHT 6T 17.92 a1 g
AT §1 35T H S 2010 deh Tt FHaT1 &a1 31.65 @G g deh Ugd 718 off| 5 2010 9%
SR IUFNT &THT 23.79 ARG gaTR 3fehl TS|

SubQuestion No : 16

Q.16 Iwfh Terier o1 Iugh M o gim?

Ans

Q"'I*\l,\rmld I TR R faRTed
X 2w
75 3. uruRes RRrga

X 4. SIS B IR

Question ID : 54062614589

Comprehension:

frmfafad meir A eryds ug ofk fiu 7T ey & 3w S

ORI YRA & Uit dc = R 81 Toria a1 sfder S0t gd enment 2000 ayf qr1 & g off 91 Srar
& foh vTTaT grsuT HYRT Bigehy RIS o UIHT d¢ IR ST a9, St gRAT T HAAGR Sheddr| J1& & asi
A, T, UfAER a7 S Sk IeTa el 3 9 WeST UR 15T fohdT| ATeer (Sieient) ST ahT QTTeeehIe
ToRTd H Tl 3R T T g ATI SITSITE! § Uge oIId T I A 85 H U d &l WAl A §er AT Uk
forfesr ear afi g 3t Ramad | T o gefa o AT TRTSE oh YIS SR hees oh chaMd Ua &
1y gd fafer TR @t e 5t 3 35w &1 Te gai| ugedt 7S, 1960 &t aeH oI I5g
ST # STIT| ORI T &5the T 196,024 T3 fhetisiex &1 FgTcAT et 3iR aocte g ued Sy
3R A I T TRT TGTT &1 ORI BUT, ek 3R HiTthef! T IUTE et AT 22T hl TG ST & |
gl &l 31T HEa YUl Tehd] Tdlcl o~ SHaI, U, g 3R SToRI1 5T H Ydelld Siet aUT JATd STel gRI
et TS &T7dT 64.88 T gaedR SHich 718 ¢ foTEH IRaR TRIAR (7#aT) URISHT &Y 17.92 A1 gk
&THAT 1 TS B SfF 2010 e St =TS &19aT 31.65 7RE 8aRIR dch Ugd TS oYl S 2010 9
STfARTH IUGNT &THAT 23.79 ARI gaRTR 3fich TS

SubQuestion No : 17

Q.17 SIr=ITél & uget oI ot {2 w9 4 foha Wl A afer mam u1?

Ans

r R
X 2. dm
Vv 3a
K 4.wR

Question ID : 54062614587
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Q.18
Ans

Comprehension:

fAfefEa e ot ermgde ué ofk Ry Mg Ui & I S

ORI YR o UG de U= [T &1 ToRTd o1 3aard $9dT gd orTeHT 2000 I GRHT & I o J141 STt
& 3R AT SUT FYRT Biga TRTSE o UfYHT d¢ UR ST a9, STt gRaAl ITHT HAGR el | 18 & asf d
A, T, UfAgR a7 Sy Sk IeTd el 3 59 TRST UR IS fohdT | ITqerd (Wiieteht) ST ahT QITI-ehIet
ORI H WATfd SR T o1 I AT STISTIET 8 Uge! oRTd I IdHH &7 0 ¥ I & 9T # sel oT- T
forfear &3 ofk gErT 3t Ramad | 54 & gvfad 3 SRUT ARTSE & ST 3R e oh chaMMid UekT h
1y gd fafer Torma @t feres it s wrsa @1 T gaiml uget 718, 1960 &t g A ToRTd 35T
S & ST | ORI T S thel AT 196,024 T fhetisiex &1 Fglert et $iR aocreig ued S
3R 3 I T TRT TGIT &1 ORI BUT, ek 3R HITthel! T IUTE e ITeAT 22T T TG ST & |
& Y 31T ABAYU Aehdl Helcl o gaad, U, Ng 3R IToRTI IA5T # Ydelid STel T HHTd STl gRT
et TS &T77aT 64.88 TG gaRIR Sich 718 & 1T TReR TRIAR (aT) TRISHT 6T 17.92 a1 g
AT §1 35T H S 2010 Jeh St FHa1 &a1 31.65 @G 3R ek Ugd 718 oft| 5 2010 9%
SR IUANT &THT 23.79 ARG gaTR 3fehl TS|

SubQuestion No : 18
oI fohe de R fRa 8?

1.3 T
X 2.gdfae

of 3 uffiae
75 4 fRofiae

Question ID : 54062614585

Q.19

Ans

Comprehension:

Fr=fafad merir B eryds ug ofk fiw 7T e 3w S

ORI YRd & Uit dc = R 81 Toria 1 sfder S0t gd enment 2000 a¥f qr1 & ag off 91 Srar
& foh “TTaTT gosuT HYRT Bigehy TRTSE o UIHT d¢ IR ST a4, St gRAT T HAAMGR Sheddr | J1& o asi
A, T, UfAER a7 S Sk IeTaeil 3 59 WeST UR 15T fohdT| STeer (Sieieht) XSS ahT QeI
ToRTd H WA 7R T o1 g ATI SITSITE! § Uge OIId T A 85 H U d &l 9T A §el AT Uk
forfesr ear afi g 3t Ramad | T & gAefae o AT TRTSE oh IS STR hees oh chaMad Ual
1y gd fafesr o @t e it da 35w &1 Te gai| ugedt 7S, 1960 &t aeiAT oI I5d
ST # STIT| ORI T &5the T 196,024 T3 fhefiwiex g1 AgIcAT et 3iR aocte g ued Sy
3R A I T TRT FTGTlT &1 ORI BUT, ek 3R HiTthef! T IUTE e AT 221 hl TG ST & |
g &l 31T AEa Ul Tehd] Telcl o~ SHa, U, g 3R SToRT1 5T # Ydelld STet T HATd STel R
Gt TS &T7dT 64.88 T gaedR Sich 718 & foTEH IRaR TRIAR (7#aT) TRISHT &Y 17.92 A1 gk
&THAT &1 TS B S 2010 e St =TS &19aT 31.65 7Rg §aTR dch Ugd TS oYl S 2010 9
STfARTH IUTNT &THAT 23.79 ARI geRTR 3fich TS

SubQuestion No : 19

TSI T &feigTd fohe T gRI=TT 87
25 1. T 5000 St
25 2. e 2500 St
25 3. T 3000 St

of 4. @ 2000 gt

Question ID : 54062614588
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Comprehension:
fAfefEa e ot ermgde ud ofk Rg Y us & IW 2

ORI YR & UG de R [T &1 ToRTd o1 38 $9dT gd eTeHT 2000 I« GRHT & I o J141 STt
& 3R AT SUT FYRT Biga TRTSE o UfYHT d¢ UR ST a9, STt gRaAl ITHT HAGR hgelrdl| 18 & asf J
A, T, UfAgR a7 ST Sk IeTd el F 9 TRST UR 31T fohdT | ITqerd (Wiieteht) TSI ahT QITRI-ehIet
ORI H WATfd SR T o1 i AT STSTET & Ugel ToRTd I IdHH & 70 ¥4 I & 9T A sl oT- T
forfear &3 ofik gErT 3t Ramad | 54 & gvfad & SRUT ARTS & ST 3R e oh chaMMid UekT h
Ty g fafesr TR i e fgemdt a5 3sa & e geiml ugel 78, 1960 i adH oRid 154
i # SATT| ORI &1 ST T+ 196,024 2 fhelieiiex &1 HeTeT il 3R deavems uee s
3R 3 I T TRT TGIT &1 ORI BUT, ek 3R HITthet! T IJUTE e ITeAT 22T hT TG ST & |
& Y 31T AU Aehdl Helcl o gaad, U, Ng 3R ITORTI 5T # Ydelid STet aUT HHTd Sl gRT
et TS &T77aT 64.88 TG gaRIR Sich 718 ¢ fOITH TReR TRIAR (7aT) TRISHT 6T 17.92 a1 g
AT &1 ST A ST 2010 T et [HaT8 &77aT 31.65 TG gaeaR dh Ugd 718 offI 57 2010 9
SR IUANT &THT 23.79 ARG gaTR Sfchl TS|

SubQuestion No : 20

Q.20 TERIE IS SH1fEa J S AT AuT?

Ans

W 1.1960
X 2.2010
/< 3.1910
X 4.2007

Question ID : 54062614586

Section : Discipline1

Q.1 Technically, national income is also called

Ans

X 1. GDP at market price
x 2. GNP at market price
X 3. NDP at factor cost

“ 4. NNP at factor cost

Question ID : 54062614592

Q.2 Which treasury bill replaced the 91-day tap treasury bill in 19977?

Ans

75 1.31-dayITB
75 2.182dayITB
#< 3.270day ITB

of 4. 14dayITB

Question ID : 54062614609
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Q.3 For a particular year, the nominal GDP of India is 14,500 and real GDP is 5,000. What
will be the value of GDP deflator?

Ans  of 1 200
X 2.195
/X 3.185
75 4.190

Question ID : 54062614602

Q.4 Which of the following results due to the decrease in Marginal Propensity to save?
Ans J 1. Higher multiplier value

x 2. Lower multiplier value
x 3. Increase in tax value

x 4. Decrease in tax value

Question ID : 54062614605

Q.5 In which of the following conditions, inflation rate remains constant?

Ans x 1. When actual real GDP is less than natural real GDP.
x 2. When GDP is more than GNP.
J 3. When natural real GDP is equal to actual real GDP.

x 4. When natural real GDP is less than actual real GDP.

Question ID : 54062614597

Q.6 Which of the following is considered to be a better measure of economic well-
being?

Ans  of 1 Real GDP
#< 2. Nominal GDP
x 3.Base GDP

75 4. Potential GDP

Question ID : 54062614594

Q.7 Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): Child care provided in day-care centre is part of GDP.
Reason (R): GDP uses market prices to value goods and services and excludes the
value of almost everything that takes place outside markets.

Inthe context of the above two statements, which of the following option is
correct?

Ans x 1. Both (A) and (R) are incorrect.
J 2.Both (A) and (R) are correct and (R) explains (A).
X 3. (A) is correct, but (R) is incorrect.

X 4. (A) is incorrect, but (R) is correct.

Question ID : 54062614601
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Q.8 When an Indian citizen works temporarily in Canada, his production will be part of

Ans X" 1. Canada’s NNP
o 2. India’s GNP
x 3. Canada’s GNP
/5 4.India's GDP

Question ID : 54062614590

Q.9 Sia HiHid IUHT ugfar aUT s e & forg Siaia saaugfa wt sisrsan g, A ag ____ &ar
2l

Ans X1 sErEE
v 21 F R
/X 3. U HoTE 7
X 4.1 2 sl A

Question ID : 54062614603

Q.10 Who generates the mixed income?

Ans J 1. Non-corporate enterprises
x 2. Quasi-corporate group of enterprises
x 3. Social entrepreneurs

x 4. Government owned companies

Question ID : 54062614595

Q.11 Qe ulkam &t 3 8000 TU @ aUT 4000 FUF 0T e &1 SHHa UM ugf~ |1 2T ghm?
Ans  of 105

75 2.0.025

5 3.2

X 415

Question ID : 54062614608

Q.12 ufari @l ure g9 areft et Fafvhes o | SargT @ gl areft s ofiv ______ A giedht &1
Ans X" 1. sifm SaTE W gl

75 2. surdm ey

X 3. Aet g M

J4.W@r‘glﬁr—rm

Question ID : 54062614604
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Q.13 According to New Keynesian economists, which of the following factors does NOT
cause sticky prices?

Ans x 1. Coordination failure
x 2. Menu costs
x 3. Aggregate demand externalities

J 4. Consumption expenditure

Question ID : 54062614607

Q.14 Which of the following is NOT one of the components of GDP?
Ans X" 1. Net exports

x 2. Government purchases

J 3. Expenditure
x 4. Consumption

Question ID : 54062614598

Q.15 Fafzres oma & He # fap=forfaa 4 & o= a1/@ wu= adl 8/8?

I. I8 Ig 1T g S 9 3R iR-apiule saadral &l ured gl &1

1. 59 geaich | faeh v ofir o1 shiulRe oma & 2nfae Al gla &1

1. safmra ema | ag =gt 3md Anfae gielt @ it ufRarst &t aRertst s7or Y eroeht gifE T @
ure gt 21

Ans X1 |qurll

75 2. Fas i

p SN
o 40 it

Question ID : 54062614600

Q.16 T¥T 31T & @ik |, TeaaTd Y gl ST &
Ans X 1. grefie o gtae AT

/X 2. arforey & uRed g geeh

o 3. o oo i @

/X 4. doh s & e

Question ID : 54062614593

Q.17 Which of the following statements regarding LM curve is NOT correct?

Ans J 1. The LM curve shifts to the left when the money supply increases.
x 2. Anincrease in the price level will shift the LM curve to the left.
x 3. The LM curve is drawn for a fixed real supply of money.

x 4.0n the LM curve the demand for money equals the supply of money.

Question ID : 54062614606
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Q.18 Net value added at factor cost (NVA¢.) equals to:

Ans x 1. Gross value added at market price (GVAmp) + Subsidies — Indirect taxes
x 2. Gross value added at market price (GVAr,,) — Subsidies + Indirect taxes
J 3. Net value added at market price (NVAq,) — Indirect taxes + Subsidies

x 4. Net value added at market price (NVAy,;) — Subsidies + Indirect taxes

Question ID : 54062614599

Q.19 feret a¥eg Sars (q. . bt.) Fi morr fafaf@a 7 @ fora g o1 Suain wes 6 st 82
Ans X" 1 St g . - geuEE

/X 2.0 ga. . + gewgE

/X 3.5 €+ geg

o 4.5 A - geEr

Question ID : 54062614591

Q.20 fa=ferf@a & @ o= o Seva wdfta ema srgar= 6t s fafd g1 gr1 fomar smram 82
Ans X' 1. gg ufdrey # siiad @R @ SR I & ardl ) Efd e B

/X 2. a5 Tae & S G aveT SR A 3uEh g

75 3. 78 U e B Suersl gt TR ek Y ufdrsgaroft e 21

o 4. 75 sraTeit gt @ @A Y dter T # S g

Question ID : 54062614596

Section : Discipline2

Q.1 SieRItgha ATuR &1 SR e fRigia
Ans X' 1 gen i@y

/X 2. S R

W 3. e EReR

/X 4.2 Reret

Question ID : 54062614622

Q.2 foedta St & dau # far=farfaa § @ o= a1/@ wu= a8t 8/8?

1. fa<fta St ufa 2R e (3.0, 19.) ok sfRrél R ufaweet (8=, 3i1.5.) &) W &l & 519
gfEufaal uR ufathel 70T Y @19 @ H ghar 21

1. fa<fta sete .. ww. ok amR. ot §. &Y= it uRacd=fterar ar sifey=ar & gerar &1

111 fa=fra SHYe = & GehrRTaaeh 3R TehIRTH 1=l U9Td gl Geha &l

Ans X 1. e I
o 2 L
X 3. 1@
X 4@l

Question ID : 54062614618
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Q.3 Which of the following correctly expresses ‘Nominal Interest Rate'?

Ans x 1. Expected Inflation Rate x Real Interest Rate
J 2. Real Interest Rate + Expected Inflation Rate
x 3. Expected Inflation Rate + Real Interest Rate

x 4.Real Interest Rate — Expected Inflation Rate

Question ID : 54062614612

Q.4 Tfy foreft 321 F foreft Ieum R ks 10 uferera &, |t st Aawe & foh TR AT Yoh agwd
g

Ans X1 Hmad 10 vaa A F R A
X 2. Fma & sufasa AR
/X 3. 6w & 10 vfiea @ s R @
W 4T E 0 TR SR

Question ID : 54062614627

Q.5 In which of the following condition a country has a comparative advantage in
producing a good 'A’?
Ans x 1. If the opportunity cost of competitive product ‘B’ is higher at home than in the other

country.

J 2. If the opportunity cost of producing good 'A' is lower at home than in the other
country.

x 3. If the overall cost of producing good 'A’ is higher at home than another country.

x 4. If the overall cost of production of other competitive product is lower at home.

Question ID : 54062614628

Q.6 Which of the following is NOT one of the functions of SEBI?

Ans x 1. To regulate the business in stock exchanges.
X 2. To prohibit insider trading in securities.
x 3. To protect the interest of investors in securities.

J 4. To review national trade policies.

Question ID : 54062614617

Q.7 Suppose XYZ Ltd. paid a dividend of Rs. 4.00 per share for the last year. The dividend
is expected to grow at the rate of 5 percent per year thereafter. If the required rate
is 15 percent, then what will be the value per share?

Ans  of 1 Rs 42

/X 2.Rs.38
75 3.Rs. 21
/X 4.Rs.47.11

Question ID : 54062614619
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Q.8 fr=fefRa d | forads forg s o grais- fEwnse wR farar sirar 82
Ans X 1. 57g o g > UR Ged

/X 2.9iE & geT = UR g

W 3 T R < R R

< 4 R > Rese R

Question ID : 54062614611

Q.9 Intra-industry trade is dominant in
Ans X 1 EastWest trade

x 2. South-north trade
x 3. South-south trade

J 4. North-north trade

Question ID : 54062614623

Q.10 The given expression represents the ‘National output (Y) of a country’. What does
‘M’ represent in this expression?

Y=C+I+E+X-M
Ans x 1. Exports

x 2. Government expenditure

J 3. Imports

x 4. Domestic investment

Question ID : 54062614624

Q.11 fam=fafe@a 7 @ fora g1 o1 Suat (Were g1E wde) wo. ShemR gea Auffa o & forg &
fera sIraT 82

Ans X‘I_aTq]:ﬁﬁq
o 2 = =
/< 3. uE
/X 4. R fer

Question ID : 54062614629

Q.12 =&, &. 3it. (WTO) st & ferg sft. g. &. &. (GAT T) o1 faan fope adf & fomar mam ur?
Ans X" 1.1947

/5 2.1990
of 3.1995
/X 4.1985

Question ID : 54062614625
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Q.13 AlRE gUF ______ & dp-iepl d T T &1
Ans X 1. e TuE

/X 2. gy o P

W 3. Fifes e

Question ID : 54062614610

Q.14 Which of the following correctly expresses the valuation ratio ‘Yield'?

Ans

“ 1. (Dividend + price change) / Initial price
X 2. (Dividend - price change) / Initial price
x 3. (Dividend / price change) + Initial price

x 4. (Dividend / price change) - Initial price

Question ID : 54062614616

Q.15 Which of the following was the first stock exchange in India to introduce screen-
based automated ring less trading system?

Ans

x 1. National Stock Exchange of India
X 2. Ahmedabad Stock Exchange Limited
“ 3. Over-the-CounterExchange of India

X 4. Bombay Stock Exchange

Question ID : 54062614614

Q.16 Uk sich ol ATgeh! hl STHARIFRAGT & forg =g=es srféra &t

Ans

o 1.7 s R s
X 2. Rad =

/X 3. wifafe gl srgua
X 4. weif guEme gl

Question ID : 54062614613

Q.17 IMF = fore aef d o fofrar darer= g faman?

Ans

X 1.1944
/5 2.1950
o 3.1947
/X 4.1945

Question ID : 54062614621
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Q.18 fr=fof@a # @ wia &t Soft & wie i 37T Yefiareor a&t gafera 8/8?

. STSt &y Wieh - 1000 s U8 & 3ifdan
11. e &u wiaw - Tud 500 A J Tud 1000 FAS
11, ST U Wi - 20 HAE T T HAH

Ans  of 1 Faw

25 2.0, i
X 3. 1aul
p A

Question ID : 54062614620

Q.19 Which of the following formulas is used to calculate return on assets?

Ans x 1. Interest paid on deposit/ total asset ratio
x 2. Operating profit/ total assets
J 3. Net profit/ total asset ratio

x 4. Interest income/total assets

Question ID : 54062614615

Q.20 Payment of interest on loans and dividend payments are recorded in which of the
following components of balance of payments?

Ans x 1. Official reserves account
x 2. Capital account
x 3. Unilateral transfers account

J 4. Current/account

Question ID : 54062614626

Section : Discipline3

Q.1 #fse @fiftrhe Ffeat & d@esf A frafaf@a d @ s ar wdt 82

|. ATSH St A 3MiehT - IMRAT IR & Bt
1. S ol SHteRfAE AT - SATIX R ! AT

Ans X1 argiaTEl
X 2. Fawll
/X 3. el
o 4 13

Question ID : 54062614643
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Q.2 Which of the following methods is an orderly arrangement of data in columns and
rows?

Ans X' 1. Coding

x 2. Classification

x 3. Editing

J 4. Tabulation

Question ID : 54062614644

Q.3 fr=fef@a & @ &t 91 Y= H-0 Afsd 6 Jgt UrRor garar &2
Ans X" 1 yalies 231 & foIg sRes gl Aifla 7€ &1

/X 2. AR & g B arerd &

75 3. Ui 321 & iR IeTEH & HR FRR B &

4. F aRaea e T 21

Question ID : 54062614630

Q.4 fafofEa 7 @ wtaar uRgea seg, &. ot F axgei & aarurR & a= 7 gfard Rgiat &
It gl e 87

Ans X 1. 2 31 a7 327 o1 g U § 31T SATUR SR 8! 947 Tevd & 3R Teh gk oh folg e
Rk 1 AR T8 R Tepd &1

25 2. U gew et 331 9 g HErad a1 AT HTed el & forg qREehR oh & § fohelt 221 Bt 3T
TR A R & FohdT 81

7% 3. g Te STHfd SaTE & 1Y Ua RISty A foiT <l Hitt o Hehdl &, Wl &) a8 BRel 3G &
fore guT AohfSi it Jim 7 AR

o 4. Rrorasien 20wt o it @ R o et e £ @iRas) B Ry R b R
a3 g Y Ghd &l

Question ID : 54062614633

Q.5 f=fofad & = <t g 3e1 anTate fafd =8 @2
Ans X 1 dc-srghin

¥ R

X 3. e g AR

/X 4. aRgse GafhigA

Question ID : 54062614649

Q.6 Which of the following pictorial techniques uses a cartoon format?
Ans X" 1 Holtzman inkblot test

x 2. Tomkins-Horn picture arrangement test
x 3. Thematic apperception test

“ 4. Rosenzweig test

Question ID : 54062614645
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Q.7 =M AH s o srgfe ofix gsht Y smyfel shwer: 25 geRTs 3R 20 3TS 81 321 B #, Tg A2l 12
SRTEAl 91T 15 SeRTEAT § 1 SIRIETT TR & H-0 Afsd &t T | T&@d g, i 41 421 4efl &
1Y TG & IR SHRT YSiT- 37T guTe T 82

Ans X' 1 2%B,0.8
o 238,125
75 3.23A,1.25
75 4.2A08

Question ID : 54062614632

Q.8 fo=fofRa & & ol Aedl-hifeorisiie 1 e &2

I. srdza Y 7 21 Tug fafy
1. AfSd R aregar

Ans o 1 o i G
K 2@
75 3. &l
/X 4. e |

Question ID : 54062614641

Q.9 frferfRa & & it e enzon & dga OLS SigAT=Ieh a1 Ut & (ui THe f3ediegar &t
STTERYT el 8)?

I. OLS 3rgaTes fsuer g1
1. OLS Aokl ohT g=Ia feraror giar 81

Ans X1 e |
o 2. 17 @
/X 3. Fawll
K aa@Iad

Question ID : 54062614638

10 saew seae wom B Y, = B, XX el Refafaa ¥ @ @l o wd 32
L Xy = ofR 59¢
I. X5 = hidTel SaIqC
Ans B 1 g Il
W 2. 132N
75 3. &l
X 4. el

Question ID : 54062614640
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Q.11 ®RusE UR 3Tt flam & desf # frafaf@a 7 @ @t & adt 82

Ans
X Eui

Question ID : 54062614637

Q.12 Idda udteror 7 Sepeeiied & foran gfa swrs Suai farg wra &2
Ans x 1.20

K 2.32

W 310

75 4.45

Question ID : 54062614647

Q.13 =T |18d & 3 W enfes Rgidl &t gft a1 @ wifrdia Rigia &t g mar )
snutfag o ______ gl ST 81

Question ID : 54062614635

Q.14 FATfehe iferae faler atfed & dgof & o= a1 9l 82

. B <hY AT T80 |1 ST 21
1. fer ToTies et fAfa S aran siran g1

Ans &< 1. e |
X 2 adad
W 3.1 2N
75 4. A

Question ID : 54062614634
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Q.15 3 FR H¥a T SieRTe & i ol fAeffa wA & forg ga.g. wie A frafafead d fra g
o1 gera faar war ur?

Ans X" 1.i=R/(1-33logN)
75 2.i=Rx(1-33logN)
/X 3.i=Rx(1+3.3log N)
o 4.i=R/(1+33log N)

Question ID : 54062614646

Q.16 319 Y 10 ShTZTT T IUTIT 231 X F a¥g A I Geh SehTd o1 IaTE A & forg foram e @ sitz
27 Y 20 eh1aT T ITTIT 32A Y & a¥g A Y Gah gah1S o Iaare & forg faram siran @1 s/ &Y
gohTS 321 X 3R Y ST a¥g B o1 IUTEH e o foIg lRER &0 @ aget &) sirelt g1 Fafaf@ad @
19 1/ Y= fAfYa a3 9l 2/87

I. 321 Y i a¥g A SITE e J gof arw 1
11. 21 X ol 37=aT A ITE el A gof @Tv 81
111 S Iearel & Seare=T & ar &t Jar X ar 2 Y &t gof emw @1

Ans o 1 @l

X 2. @i
75 3. Fas

X 4@

Question ID : 54062614631

Q.17 fr=faf@ad & = usiacht & Aread & a1 §ug & Seuil | 9 Ueh a1 8?
Ans X" 1. T fafd s Surey e & gerer & i 81

/X 2. 3reE IR &) e B

o 3. STReTaTS & T Fe R Hed aed B

7K 4. 5TeT ST dheret AR R TgehTa STRETTS o [N Fohal ST Gehell & |

Question ID : 54062614648

Q.18 FeaAe TR & deof A fraferf@a 9 & st a1 ot &2

I. a - HIfARSY FgRfAGe
1. (1 - a) - Qg 3iTw RS

Ans X1 e |
P AECTEC
o 3ad g
25 4 Fa

Question ID : 54062614639
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Q.19 #fa i Afsa & d@esf A Frafaf@a 9 @ st a1 adt 82

1. e afse Rreiee J Teh 8, grerifer ag ==i & A2es gt Wt Tehvar & itz =gt ot
1. X & |19 W <47 foq &R Ok a1 af¥a ot Sraada af amara gl

Ans X1 argilaTEl
o 2.1 a3
/X 3. el
25 4 Fas

Question ID : 54062614636

Q.20 fr=fofEa d @ Fi= gdadhaafeRé &1 uar @A & forg g 2 @?

I uidh &
Il. FeER &=
lll. Mesthes-Taige &

Ans 3 1@l
o 2. iz
25 3 @i
X 4@

Question ID : 54062614642

Section : Discipline4

Q.1 sfaffa fRafal 6 sufRafa |, @t o caaer duh @ feare &) fFafaf@ad @ s
@t e?

1. N7 31 fiHiferer T & et B g @« Agd 8l
1. S8t &1 fop <t fiwiferar w0 9 sigger @« @41

Ans o 1 ol Gt
K 2@
75 3. &l
X 4. Fawll

Question ID : 54062614666

Q.2 dF=d 3a & d@ug & Hay A Frafaf@a 9 @ «ta a1/@ suaad 8/8?

|. Q=8 a1 ar At uhTfAa 2T a1 AFUHTAT 22T g ke &1
1. grdeifaer Repts 3R Afae1iRes swaras @dhsdt 2 & Tu d rd & &l
1. SF=d et forsft wowaT & forg srguysh ot sroafu = gt wahdl

Ans o 1 el

X 2. Fa= i

25 3 @l
25 4, nari

Question ID : 54062614650
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Q.3 Which of the following is correct regarding VNM expected utility theory?

I. ‘u’ represents the von Neumann-Morgenstern utility function
1. ‘U’ represents the Bernoulli utility function

Ans X1 onlyll

J 2. Neither I nor i

75 3.Both land I

75 4.0nly|

Question ID : 54062614668

Q.4 fop=fafEa | & o= a1 git-e Rees aef= quries a1 @@t ofafafaea &2

Ans i (X}
u(x)

v (xu)=
u'(x)
u”(x)
K3, (x;u}= ux(x}+ ' (x}
p 71 (x;u)= u‘(x}— u' (X}

X2 r(xiu)=

Question ID: 54062614669

Q.5 Prefafead & wi e gm ad &2

. FtSiTRfEa Qe - TYwh FIiars Gala vaea &
II. Si-FYSiTRfea B - G FIears gastd vad-ra T8 &

Ans X" 1 e |
o 2. 132N
75 3. Fa I

K aa@Iad

Question ID : 54062614659

Q.6 fa=afaf@ad @ wia-ar @« o1 e sifard aa g?

1. fEaendt
11. Tor-hfeat

1. aprar
Ans X1 |Gl

o 2. i@
/X 3 1@l
25 4 nar

Question ID : 54062614658
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Q.7 Anatural monopoly occurs in a market where the:

Ans x 1. single company is not able to supply the entire market
« 2. average cost curve is decreasing over the entire relevant range of outputs
x 3. marginal cost curve is constant for all the given outputs

x 4. capital cost is more than the average cost

Question ID : 54062614656

Q.8 If rate of returnisr,then______ is the discount factor.
Ans X 1. (1-1)
X2 (1+9

1
v e

X4 (1=

Question ID : 54062614661

Q.9 Inzero sum games

Ans x 1. on€'s gain is another’s gain
« 2.onée’s loss is'another's gain
x 3. all players are at loss

x 4.one’s loss is another's loss

Question ID : 54062614660

Q.10 Which of the following is NOT a reason for higher productivity in industrial sector?

Ans « 1. No specialisation and no division of labour
x 2. Continuity of production
X 3. Less dependence on natural factors

x 4. Existence of greater capital intensity

Question ID : 54062614663

Q.11 Which of the following is a type of lottery?

I. Simple
Il. Compound

Ans  of 1 Bothland Il

x 2.0nly |
75 3.0nly I

x 4. Neither I nor I

Question ID : 54062614667
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Q.12 fy=fefEa d @ ford 'SruraTse demar thaeM' & w0 fAsfUa forar Sim demar 82
(W ETa1fSIeR Shearor ot g2rfar @ 8iik Uq, U, 3 smfSaer Suatfirarsit o ufaf~fdw w=a )
K1 W=U+0,-U, +.. U

Ans
n

N2 W=U,-U,+U;-...U

n

V3 W=U,+U,+0U,...U

n

N4 W=U;*0,40,...U

n

Question ID : 54062614653

Q.13 A curve depicting all maximum out put possibilities of two or more goods given a set
of inputs is called

Ans J 1. Product possibility frontier
X 2. Laffer Curve
x 3. Community indifference curve

X 4. Contract curve

Question ID : 54062614655

Q.14 feafaf@a 7 @ &= a1 faemrasiie 220 7 sitetfiiezor 7 a1 =ra= aren v enfefe @i 82

1. goft &t ot
I1. wiSET Se & Sutwrsl et IuTiT e & forg el &t srqufeafa
1. vafe gi~ardt gieemg

Ans X1 | 1@l
W 2 1l
/X 3 1@l
p A

Question ID : 54062614664

Q.15 Which criterion has used the loser's point of view for measuring the changes in
social welfare?

Ans ( 1. Hicks Criterion
x 2. Max-min Criterion
x 3. Samuelson's Criteria

x 4. Scitovsky double criteria

Question ID : 54062614654
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Q.16 frfteim & wifVes A9 oS grawg safQ A Stgaarsmar g, T hgelTdr &1
Ans Jy;;‘g\—,[

X 2.

75 3. s

X 4. 3RS

Question ID : 54062614662

Q.17 fr=fef@a & @ oY= a1 avg-uaR &1 g 98t 82

. TafeRe - feamrss Imi=ht avg
1. 9 ugrdf - AR fert Iust=hT avg

Ans X1 e |l
75 2. Fad |
o 3.1 2N
F R T

Question ID : 54062614665

Q.18 Pollution by a firm in the course of its production which causes nuisance or harm to
others is an example of

Ans x 1. Technological externalities
J 2. Negative Externality
x 3. Tragedy of the commons

X 4. Positive Externalities

Question ID : 54062614652

Q.19 f=fof@a d @ &)= a1 arar=g duf~ 914 UeRiR Y aTg] Sh1R0T <Al gl I&TER0T &aT 82

Ans ( 1. G T H Yoh ASell Uchg dTeft chu+1 gRT Heelt Ueheg o GOt syt o folg Iuerees
Toforal et TWieh T gt ST &l

75 2. Ua it 3109 OR & THA Yok SATehsieh Ster el & e 39 &5 § g4 arel 3 Al et
AT &) ehdT &

7 3. qa vfad cege U e & 9 T & R @dear 8, e fwd st 8
/X 4. Ua ST gl AR HiaTge G @ @1 § 3R 3 st & aiher sqeh! Suaifial aeT 3@ &

Question ID : 54062614657

Q.20 In monopsony, there is
Ans X" 1. Many buyer

J 2. 0ne buyer
x 3. One seller

X 4. Many seller

Question ID : 54062614651
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Section : Discipline5

Q.1 Sia g Sugifiar sifderas gidt 8, &t Hraia suaifar ______ gidt g1
Ans X-].-]

/X 2. e

/X 3.3

v N

Question ID : 54062614678

Q.2 Which branch of economic theory is associated with the difficulty of resources
allocation?

I. Microeconomic theory
Il. Macroeconomic theory

Ans x 1. Neither I nor II

75 2.0nly I
o 3. 0nlyl

#5 4.Both land Il

Question ID : 54062614674

Q.3 Which of the following statement is correct?

I. In positive economics we deal with scientific issues and questions

1. In normative economics, disagreements among economists can never be
resolved

Ans X1 Onlyll
75 2.0nly|
X 3. Neither I nor Il
o 4. Bothland

Question ID : 54062614672

Q.4 Expansion in supply refers to a situation when the producers are willing to supply a
______ quantity of a good at an

Ans x 1. larger, same

x 2. smaller, increase

x 3. Larger, decreased

J 4. larger, increased

Question ID : 54062614686
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Q.5 If supply curve is Perfectly Inelastic, the supply curve is
Ans ( 1. vertical

x 2.at an angle of 45 degrees from X axis

x 3. atan angle of 45 degrees from Y axis
x 4. horizontal

Question ID : 54062614683

Q.6 Due to which of the following reasons the change in the supply of a good along with
same supply curve may occur?

I. change in the price of the good
1. change in the prices of related goods

Ans X" 1 Bothland Il

o 2 only|

x 3. Neither I nor Il

75 4.0nlyll

Question ID : 54062614684

Q.7 fy=faf@ad @ &t va gof ufaeasff o & sreaarehi= fAofa @ 3grgeor 82

. 3if AR SATH T IS Al TR
1. famTo 3R faeht wenR wR feRan @<l & @

Ans  of 1 Faw
X 2. Fawll
p A
75 4.1 @

Question ID : 54062614689

Q.8 Which law defines that the demand curve to slope downward?

Ans X" 1 total utility maximisation
x 2. total utility minimisation
x 3. diminishing total utility

( 4. diminishing marginal utility

Question ID : 54062614676

Q.9 For Giffin goods, price elasticity of demand is

Ans X1 zero

X 2. not known

x 3. negative

J 4. positive

Question ID : 54062614680
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Q.10 3=fAT ash g farg M oz 5ot 1 gl &2

1. 2 aeqd qof gean awgd &
I1. 3} a¥gV srquf farerea &

Ans X' 1 e |
25 2 1aur @

o 3 F==
F e

Question ID : 54062614677

Q.11 Which one of the following is a disadvantage for allocating resources utilizing a
market system?

I. Profits will be less
1. Uneven distribution of income may take place

Ans X" 1. Neither I nor |l

75 2.0nly|

75 3.Both land I

o 4 oniyll

Question ID : 54062614673

Q.12 Which one of the following is required for a person to make a rational decision?

Ans x 1. Logical choices without error
x 2. Choices that never change
( 3. Choices that are consistent with a similar goal every time

x 4. Choices that don't have trade-offs

Question ID : 54062614671

Q.13 The creation of choice is doneby ______ .

I. scarcity of resources
Il. the urgency of needs

Ans o 1 Onlyl

#5 2.Both land Il

75 3.0nlyll

x 4. Neither I nor Il

Question ID : 54062614675
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Q.14 iR FTTH ______ gl

|. TOTTHER YT
I1. ATATHER hYF

Ans X1 e |
25 2 1aur @
K 3 a@Iad

o 4 F==

Question ID : 54062614679

Q.15 Iuvi=ht Y 3 | gig & uRRvmaTeeu 712 et (fFeada axge) & g aimass ______ |
Ans X 1zl 3R Rehar @

75 2. g Aty et Tt = ST @

75 3.7 A sreerma T s

of 4 a1 ok Rrwwar

Question ID : 54062614682

Q.16 Which of the following is the property of indifference curve?

I. Two indifference curves can intersect each other.
Il. Indifference curve is concave to origin.

Ans X 1 Bothland Il

75 2.0nly I
x 3.0nly |

J 4. Neither I nor Il

Question ID : 54062614681

Q.17 afy fopeht avg i sgfd gft are @ waeR @, @t 7 7 gy & aRvmawasa______ gt

I. aTRgaRT fibd fRR AW
Il. ST=raeT |1 7 i

Ans  of 1 | qor i G
K 2@ Iad
< 3. Fmall
/X 4. e

Question ID : 54062614685
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Q.18 fr=faf@a d & o= a1 wu= &t 82

1. gof uferegaf &, wd T@re axgsil o1 e ot &1
1. QerfAerrdt uferaef &, wef u¥St +ft fora agait o1 Sang &t &1

Ans X' 1 e |
K 2 adiad
/X 3. Fawll
o 4 1au e

Question ID : 54062614688

Q.19 Production function shows of agood.

Ans ( 1. a technological relationship between inputs and output
x 2. the economic relationship between inputs and cost
X 3. a technological relationship between inputs and price

x 4. a technological relationship between inputs and cost

Question ID : 54062614687

Q.20 If we want to have more of one of the goods, we will have less of the other good.
Thus, there is always a cost of having a little more of one good in terms of the
amount of the other good that has to be forgone. This is known as the

Ans X" 1. Financing cost

X 2. Actual cost

( 3. Opportunity cost

x 4. Marginal cost

Question ID : 54062614670

Section : Discipline6

Q.1 fa=fefEad @ ford wRoT @ FIg] HIR0T RIS gl ehel 872

|. STAANET GRTRIHE & ATY-JTY ThRIAR T4 T qHTfad gt Jeahdt 8
11. GfsaSt Yep1RTHS a1g] HIR0T &

Ans  of 1 Faw
P ARSI
K 3@
X 4. Faall

Question ID : 54062614701
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I. Alarge number of firms
Il. A downward sloping demand curve

x 1. Neither I nor I

75 2.0nly|
J 3.0nly Il

#< 4.Bothland |l

Ans

Q.2 What does monopolistic competition have in common with monopoly?

Question ID : 54062614692

Ans J 1. Michael Spence

x 2. Garrett Hardin

X 3. Kaldor
x 4. Pareto

Q.3 The concept of market signaling was first developed by ______ .

Question ID : 54062614706

Ans X 1. Sae g gfier Sushis & g sge ea o
X 2. wh Treat & forg Himd ser gt

75 3. 5ea eu

o 4 wh e % R Swa Fw a2t

Q.4 U Yehdd-Hed aATeAt QehTOpIR Rt ______ e g afE I Srue fash Fer=it 21

Question ID : 54062614696

Ans 5" 1. 0nly |

x 2. Neither Inor Il
75 3.Bothland Il

o 4 onlyll

Q.5 In which of the following conditions does a positive consumption externality occur?

I. The social marginal cost is greater than the private marginal cost
1. The social marginal benefit is greater than the private marginal benefit

Question ID : 54062614708
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Q.6 Which of the following statements is correct?

I. If a given quantity of a good is to be produced and supplied, the supply curve would
indicat e the minimum price of the good expected by each seller.

Il. The demand function which expresses the functional relationship between the
quantity demanded of a good and its own price is based on ceteris paribus
assumptions.

Ans X" 1. Neither I nor |l

75 2.0nly|

o 3.Bothland

75 4.0nlyll

Question ID : 54062614697

Q.7 A spray prevents mosquitos from biting. This spray is produced by competitive
firms. Which of the following will be the outcome of the market?

Ans X 1. Due to the uncaptured negative externality very large number of sprays are
produced

X 2. The market will demonstrate second welfare theorem
J 3. Due to the uncaptured positive externality very small number of sprays are
produced

x 4. Due to the uncaptured positive externality very large number of sprays are
produced

Question ID : 54062614698

Q.8 Which of the following is required by the First Fundamental Theorem of Welfare
Economics?

I. Producers and consumers to be price takers.

Il. That there be an efficient market for every commodity.
Il. That the economy operates at some point on the utility possibility curve.

Ans X 1. land i

/X 2.11and i
o 3 L iand
X 41andll

Question ID : 54062614699

Q.9 guf ufereaedf ez & d@esf A Frafaf@a 9 @ st a1 a8t &2

1. 399 ot ST § @R ok faghar enfa« g1
11. w@er & 1S arer T8 @1

Ans o 1 o i G
25 2. Fae
/X 3. el

F e

Question ID : 54062614691
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Q.10 According to Keynes, which of the following is a component of demand for money?

I. Transactions demand
Il. Precautionary demand
I1l. Speculative demand

Ans  off 1 1 lland i

/X 2.11and i
/X 3.1andl
X 41and i

Question ID : 54062614704

Q.11 Which method can help in obtaining a welfare improvement if externalities exist?

I. Regulation
1. Assigning property rights and permitting bargaining

Ans X" 1. Neither I nor |l

75 2.onlyl
o 3.Bothland I
75 4.0nly|

Question ID : 54062614703

Question ID : 54062614694

Q.13 fr=fafEa 7 @ &= a1 frifeaa afeas & devid ad @2

I. gg fomiifea e S g9 @
Il. Tg SAUTE chl IUTE & ATHISIR TU & STAH &R deh o STl @

Ans B 1| Il @
X 2. e |

o 3 F==
K aa@iad

Question ID : 54062614702
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Q.14 519 TerrfOart ufaeguf § o enf¥er e rmr @ afal ___ |

1. wH I A vRer st
1. =1 et & forg #i ge st

Ans o 1 o i Gt
K 2 adiad
/X 3. Fawll
75 4. e |

Question ID : 54062614695

Q.15 Which of the following is correct regarding money supply?

I. Exogenous - Money supply is determined outside the system
1. Endogenous - banking sector along with firms and households play an important

role in influencing the money supply

Ans X" 1. Neither I nor |l

75 2.onlyl

o 3.Bothland

75 4.0nly|

Question ID : 54062614707

Q.16 fa=faf@a d @ &= a1 wH &1 siier-AsfEn e &7

1. 3ifdreraw snfdfer ey
1. anf¥ies gepeTa & s==T

Ans X1 i
K 2@
o 3 aa

75 4 1qun @

Question ID : 54062614690

Q.17 Which of the following is correct regarding public goods?

I. They are non-rival in consumption
Il. Consumers cannot be excluded altogether from them

Ans x 1.0nly |

o 2. Bothland I

75 3.0nly I

x 4. Neither I nor I

Question ID : 54062614700
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Q.18 Animportant mechanism through which sellers and buyers deal with the problem of
asymmetric information is

Ans x 1. Principal-Agent Problem
x 2. Insurance Markets
x 3. Moral Hazard

J 4. Market signaling

Question ID : 54062614705

Q.19 Ik TSR & Sarg Y FrFa d aiadq & deau d frafaf@a § @ & a1 sy a9 98 82

1. gg ufRads SRR & srefi gla &
1. g ufed SHT1YE gA: srdfed A & forg Mg verd o 9ehd 8§

Ans X1 argiaTEl
X 2 1@ ae
/X 3. Fawll

of 4 Faa

Question ID : 54062614709

Q.20 Firms in monopolistic competition have demand curves that are ______ .

l. U shaped
1l. Downward slopping

Ans x 1. Neither I nor |l

o 2. onlyil

75 3.Bothland Il

75 4.0nly|

Question ID : 54062614693

Section : Discipline7

Q.1 What is the meaning of ‘Evergreening of Loans’?

Ans x 1. Loan approvals within 24 hours
J 2. Banks give additional loans to its existing borrowers
x 3. Government providing loans to banks to meet their losses

x 4. Waiving off the interest by the banks

Question ID : 54062614722
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Q.2 fm=fafEa d @ s e gt g fopelt 3o sl IahY Iem srarle &y ok & srom?

|. S=T ASTRIS T °TeT 3R 5707 <At aisT
1. 3= AT @ uTer 3R & et qeT siEr
1. HESIR 3R fRAR R AR

Ans X1 (@l
25 2.0, nawri
o 3 1m
p A

Question ID : 54062614729

Q.3 Which of the following is correct regarding the Outcome budget?

I. It reflects the itemised allocation of resources reflected under the last General
Budget and prepared by ministries of the Government.
Il. It was started in 2005.

Ans X 1.0nly |

x 2. Neither I nor Il

75 3.0nlyl

o 4. Bothland I

Question ID : 54062614723

Q.4 ATes AW A SR A gt fob gof ufeeaf & aga fAsht iz grarfSie smra gam= gt ez

TTIR <hY aTg] 1RO it Ueh ufdig gwwT ) Taifde farar, f5a UUTE & & & ST
ST 81

Ans  of 1 fEmsiaR
75 2. s

X 3.3R
75 4w

Question ID : 54062614719

Q.5 'g ¢ord ot sprA= fore foredt @2
Ans X 1 €U @R

X 2. T R

o 3 Reafs

75 4. uteg e wreum

Question ID : 54062614717
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Q.6 HIRGRE w1 H3Terd ZI™ > il TE MCA21 Ugd & deH | fA=farf@a d @ sal= ar adt &2

. FfulRe ST, AeRt iz oimH wi=ar & forg wgrae a¥id 9 gA. . q. darg smart siiz
gfara aftds @ uga
1. 39 ot IfAfad, 1956 & agd HIJt HTAWGRATSI h HaeH 3R SIguTa & Haf o asft
uftrarail ol gft @vE @ Tanferd o & forg fasmme= foman mar &1
Ans O 1@l
W 2.1 2e
/X 3. Fawll

X 4. el

Question ID : 54062614725

Q.7 Which of the following is correct?

Ans x 1. Real interest rate = Nominal Interest Rate
x 2. Real interest rate/Nominal Interest Rate = Expected Inflation Rate
x 3. Nominal interest rate = Real Interest Rate - Expected Inflation Rate

( 4. Real interest rate = Nominal Interest Rate - Expected Inflation Rate

Question ID : 54062614718

Q.8 3MTSeye & el A (Sft.oft. 3l ) oik Teahet geg afdfa (Sh.dfi.w) Fflad sirapt ______ hgl
SITaT 21

Ans  off 1 merEdigmeim
X 2. sifdw gusdi
X 3. Te Susi
75 4. Seid Iusi

Question ID : 54062614726

Q.9 WTH! AT T HIT 87

Ans X" 1. gg gofia dufy 3k et e & Fsfor & forg g arge &
7 2. g o e ol GufiTTel €1 o QY SiigeRs HTe feha STTelT &
/X 3. 7g o wifey ofR o o & 3ieR & aRIaR &
o 4. 75 dofra wufR & Rmfor & forg et a1 iR SFgEr & SR B

Question ID : 54062614728

Q.10 Q& RIRII STg] ShIR0T I&H Y aTell WH et SR T F FUA ST TR a9k UgeHT gl
frafafEa & @ o @ f[Rafa smasas 82

Ans X" 1. o OR ST T IRTE Yok = GrHTTGreh i @nTd
o 2. T TR ST TR ST S = AT i AT — e Y e e
£< 3. T OR ST T ST Sk = ATHITSTeh i AT + G ) i T

25 4. O OR ST T SeTE eeh = O oh Wi @

Question ID : 54062614714
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Q.11 Who gave the impossibility theorem?
Ans X" 1 David Ricardo

« 2. Kenneth Arrow
X 3. Ludwig von Mises
x 4. Friedrich Hayek

Question ID : 54062614716

Q.12 3& Farsit && verstt (Ff.f.f.d¢.) & He i A Frafaf@a d S e ar ad @2

I. Ig s 22 ST=aRt, 2015 <Rl ur-itud, gfvaron d arfererren & siftad, Traror iR faa i
seTar 3 & forg == fomaT mar uT

Il. SHhT 32T ATHATISIR ATAAhdT ol dEe- 3R 39 qe, Y Mfivear & T A SRedRar 981 A
& forg ges 1= sifSram= & wregw @ are fo srgard (Y. w9, 9mR.) & firrae & g &t @=ifda
AT Bl

1. ... . swreferm o1 s @ga foir uerard fom sareres S=ge ot A, arferarsi &Y
IeRSTfAEr ofiz gRemm Giafea oan ok aiferprait i fNerm ofir wrfiers giafya @ g

L SRS
25 2 1@
v ERNTES T
25 4@

Question ID : 54062614727

Q.13 1] &1RuT & Hef # famfaif@a d @ &= ar agl @2

. STE] SIROT T I UREl sEaHT Y Iued & aa i Aerar @ STa gof ufeegef o=t @i 21
I1. Qeh SITE] SIROT @« gidT @ STd Qe fofa & fAofa &+ a1t saf<h & sreran s safzhal ar aagl
Y AT g 81

Ans X1 g iaTE
/X 2. e |
o 3. 1q g
X 4. el

Question ID : 54062614712

Q.14 feafaf@a & @ &= ThRRIcTeh STg] hIRUT hi A A & forg WieTg=T UeT gl ehvar &2

1. werrfaa wat & a1y faea
1. wHT & =T Aeara

Ans X1 e |l
X 2 1@ ae
/X 3. e |
o s iad

Question ID : 54062614713
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Q.15 =17 & iR fAZid &Y smasaehar @ fak aaft enfier sraaTaarel &t saafea forar sirg arfer &
______ Gl

. =g gfaar arel & forg wradse
1. 3R i fAsaer gaT=an Y 216t & dga Tt Tewl & forg g« oz gl wrafaat € 92

Ans X1 e |
K 2@ Iad
/X 3. Faall
o 4 13

Question ID : 54062614715

Q.16 aToR # TehIfAerTR 2Afh & g A fAamafafea 7 9 ot ar agt &2

|. g Iauneeh AfANY 31fAeh har &
1. ag Hiaal A T @

LA ST
X 2. Fawll

o 3.3
X 4@ iEa

Question ID : 54062614711

Q.17 fa=fef@a d @ o= a1 ufagea @9+ &1 Sargvor 8?

Ans o 1 7 IR it e aTel @il GRT R 3 @RI TR GRS e R AT
thfags

25 2. Ryt orar arelt TS &Y e § e ure At aTge @ g sare fefRd A
/X 3. Rt 3@ 2 <h RIThIR 3 SMUR TR 747 QIR chdimR@e
75 4. @m e B agg @heT W & 3T Ui afear @t

Question ID : 54062614720

Q.18 2004-05 & 2011-12 deh AT @rall & R aef & Henteq & g d faafaf@a d @ st ar
g 82

1. g=eiTeH faepTa &7 o fRAR a1oTR geal R Sft. €A, gy ardt e
1. 392 ugat, frenTa ot AR Rwal R iees o W Sft. & . 7 gfg a3 & d@eof F wror siran
oI

Ans X 1 e |
X 2. Faall
o 3.1 2N
F T

Question ID : 54062614724
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Q.19 Yt IaTE rguTa & Hef d famfarf@a & @ ot a1 sy |8t 82

I. oft Jeare=t srgure fepeft 321 & fodar g e sft. & f. gfg & i deiw &t garfar @
1. 3= Uit Seume= Srgurd Ysit Y 3= F&7dn ol g2ufar 8

Ans  of 1 Faa
25 2. Faw
K 3 a@Iad
25 4 1aun e

Question ID : 54062614721

Q.20 HrETfAs HfAy & He | fa=fafaa d @ wlaar ad 82
Ans X" 1. IaTedh SRR + T

o 2. sareE arftdy + Susi ey

/X 3. 3@Es AR - Iusieh Ay

75 4. et ST + w1

Question ID : 54062614710

Section : Discipline8

Q.1 Which of the following are correct regarding the austerity measures taken by a
country going through adverse economy conditions?

I. These measures include an increase in tax.
Il. These measures include reduction in budget deficit.

Ans x 1.0nly |

x 2. Neither I nor Il

75 3.0nly I

o 4. Bothland I

Question ID : 54062614744

Q.2 'tive ATEH' qeae fopea foredt 87
Ans X 1. famet STer

X 2. T ar. qaw

/X 3. U™

o 4. R St e

Question ID : 54062614739
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Q.3 fa=Afef@ad @ st srefegawt & 6} &1 Gwrfaa w1=or g erar &7

I e e | gfg
1. g =g A heft
1. =7 Aifas

Ans X1 (@l

o 2 i@
25 3 nawri
X 4@

Question ID : 54062614738

Q.4 fr=Afafdad @ ot emr.af. omd. &t wifees fifa & forad &2

|. & areTR ufvaras

II. TFepe em=fara fAfY srgara
. S &

IV. faef 3ot &=

Ans X1 | 1@l

o 2000y
X 3 maariv

X 4 @iV

Question ID : 54062614737

Q.5 fr=afafRad @ @i ot simidia geidl e s<iweie ¢ Affre Ruté uemrfaa o=t 87
Ans Xlﬁ%ﬁiﬁ

o 2. G I8 @R ok R gEe

/X 3. sicRiga a1

/X 4. Reg anffen s

Question ID : 54062614734

Q.6 <ft.gu.&. gamgen &7 & dgof A fAmfaf@a & @ o= o1 su= ad 82

1. 5. Q9. &. F3TasIT IUHR T IUANT AT hl SHTHE A1 g & ugs uiw aut & HfreR g
aret fopeft off gerams Y wrard & forg faram siran 1

1. Sft.ow. 8. sifafagw & sgamR, asul ot gamast H me& & s @ afy sfroud v gy
14 ufeRa 9 A 21

Ans X1 |l
K 2@ ad
/X 3. el
o 4 13

Question ID : 54062614735
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Q.7 U a5 srfeqaeur gen Ot erfamewur @ s ______ I
Ans X 1. e Frafd g g

o 2.7 7 et @i & ik 7 & s g &

75 3. 5 &1 fdiwor gr &

/X 4. e & A gl ave @ Prfia &

Question ID : 54062614740

Q.8 A d @ i I= a1 @re 912 | AT 3?

1. arae & Fafa d gy
1. Htenget i & smard | gig

Ans X1 e |
o 2 F==
K 3@
25 4 1aur e

Question ID : 54062614746

Q.9 gl 8T Fearor aier & Heof # fAfaf@a d @ el a1 sy g @2

|. TRy gl & forg ST gtsmEr
1. T 3R FHSAIR Al &l Tehe g&iaoT
1. Sifsa &= | e siffient & forg a1y

Ans o 1 1l
X 2. 1@
25 3 @l
P Ak

Question ID : 54062614731

Q.10 fa=ferf@a & @ o= o uger e smat grr e 6 1€ @2

. AT9a geft uf¥ad= & forg demwofia sréars
1. Tk W19 98 9IRd
11, 999 ST Weed Yadhich

L SRS
X 2. 1@
o 3. i
X 4@

Question ID : 54062614733
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Q.11 wrafdes e & e & F=faf@a d @ sl ar adt @2
Ans X 1. gt wifeEt - st e

2K 2. ot Tt + STt T

o 3.3 Ere - @ T

/X 4. guft ot + st A

Question ID : 54062614743

Q.12 syl & g w3 & dfes faaror & forg, fAafef@a & @ @t a1 ar=Es 153 fas smatn g
ITETAT 4T 87

I. ama &

1. STrE=AT (2011 Y STt
Ans <" 1 e

X 2. e |
o 3.1 g
K aa@iad

Question ID : 54062614730

Q.13 ferar= shfse 1 gior & Hed d Fr=faf@a d S s ar ad @2

1. 58 1988 # wt=a foram mwar
1. dhaer arforfe doh g 38 17 e Tehel &

Ans X" 1 e |
X 2. Faall
7< 3.1 1@t
o 4 g iag

Question ID : 54062614732

Q.14 fa=faf@a d @ @19 a1 w1201 wWika & H arHtoT 3y R 1T 82

I. pfS & ow foadar
1. wrafdyes Iarel Y w Rraa

Ans  of 1 | qriiEHt
X 2. Faall
K 3@
75 4 %Al

Question ID : 54062614749
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Q.15 fr=faf@a d & o= wika 9 sriafe ko1 & ueaw §?

. FamTasT 3R o @i

I1. 14 feaity gewfifeve 3t fae
1. eieRfgT faxfra dwar=i @t S8 ufergfermi

Ans o 1 | 11T
X 2. 1@
/X 3. 1@l
X 4 @i

Question ID : 54062614747

Q.16 IR #H, 91 & fauiwor a1 Iugtn o forg Sarer Sper & forg foram srar g1

1. fa2ft sro1 RY W A
1. 3nf¥fe faemrar

Ans X 1. e |
o 2 F==
K 3 AEIad
X 4@ iEa

Question ID : 54062614748

Q.17 T ITSTIR 272, <kl T 3ref @2

I. a8 Uah QT ISR @ STei gea fAufor smgf sitz @i & faaet grer s=nfera gl 81
1. Tk TSI} § TReRIR o vfersier & famm =it Sueteer &1

Ans X1 argiaTEl
W 2. 17 i@
/X 3. e |
25 4 FaE

Question ID : 54062614741

Q.18 famfaf@a & @ o= o1 ar=a faera gawis o1 fgwar 82

|. |T&IRET &’
1. ST=9 & 99 Sfia= uarm
1. ar<aferen sha 2ufwh wR ufd safe sft. o, ens.

Ans 1 |qarll
P S A
o 3.1 nFe
p AR

Question ID : 54062614745
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Q.19 fafs@eraar @2

. a<en1R t forsft shufaral & << fr sifwetfSm
I1. frsft Shafrat ot wxerd a3t &Y sifwaifsm

Ans o 1 el
75 2 Fae |
75 3. 1@ @
F e

Question ID : 54062614742

Q.20 =g fa= siepl (T.uw. &) & H@ed | frafaf@a d @ s ar sy adt 82

1. &g fore & ST SRR R ehel & 3R Shael 1 TG FUA ek T K0T & Thd &
11. 3 31U= 7UT &1 75 ufard urAfderdr aret &l sl 31 SiTasash gidn &1

Ans o 1wl
X 2. e |
p A CTEC
K s a@Iad

Question ID : 54062614736

Section : Discipline9

Q.1 Inamonopolistic competition market structure

Ans  off 1 thereis/free entry and exit

x 2. the size of the market is very small
x 3. the products are not different at all

x 4.thereis a single buyer

Question ID : 54062614758

Q.2 Wi fafwa & d@esf | fafaf@a 7 @ wia a1 ad 82

I. rdsifer &5 ol THTYET T SiTded areTR 3R g9 gea fAufor worret & sy &een

arfggl
1. udh =afh ol gua A ardenf~e g At @fau

Ans X 1 e |l
K 2@ Iad
75 3. 1@t Eat

of 4 Faa

Question ID : 54062614765
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Q.3
Ans

Fite fg-1f R Afsa |, ucds w 6l wictagee afvgem (. &) ______ gl
p SR b
v 2=
X 3.u=m

X 4. gmdEn

Question ID : 54062614757

Q.4

Ans

f&-aif R & aids Afse & IR, af& gah & B orusit Firaa P & w0 d fAuffya st & iz
wH A gt hraa P, & wu & Auffa st g oiiz C ucdes wH Y diaia e @ ufafafda
el g, dtf fore fRAfa & & A v B &l stemr @t &2

X 1.5 P, Py AT g 3R AT C A a2 &l
/X 2.5 Py, Pg h SRR @ 3R T C A SR &
of 3.5 P, Py TEr iR T C AT A
/X 4.5 Py, Py ATeidl iR AT CABREN

Question ID : 54062614762

Q.5

Ans

& de | yeaet 3R vt TRl Y Qe GER & AT g il ST Tehell 21

|. ST T 3MTee
11. fareRor warg

75 1. e |

W 2. 132N
p A
X 4. Faall

Question ID : 54062614767

Q.6

Ans

A2 gt Fu g g &1 g Y sif Ry (A) SR gER &l IROT (R) & w9 H dae forar mam @1

SRy (A): guf ufeeaf wf 3 forg Sfereli= @ge= e g & & graw fig wetar &1
a1RoT (R): gof ufeegeff &, &t oft 7 wef afy =ang &t are 7 Sarga wnfa & & fog @ @
3R &tE off Hicper v Izt Btg Fehdt &1

IR 3t el & Tl , Pt @ @ ar Riee ad 82
< 1. (A) T, AR (R) e B
of 2.2 () T (R) T & R (R), (A) Y e @ 31
75 3.(A) 3R (R) @ Terd 1
75 4. (A) e &, Af (R) TR

Question ID : 54062614763
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Q.7 fo=faf@ad ar F9d FyaTaa &?

|. Sohel O] IeTE SR STHEEAT A I ieg Geh A1 & Hehell &1
1. I=a ST gy & ary ufa safws oma gdem gedt &1

Ans X1 e |
F R IR
o 3.1 2N
25 4 Fas
Question ID : 54062614755
Q.8 fam=fofRa d @ st a1 su= adl &2

|. gdawfa & fFraw & sIganR, dhae 3 ardsifae arara, o R gof agafa g, & sarea frar
ST =gl

11. ek AAETAT STG] ShIROT ST, Yeh ATl ZIRT WY hY 1 17T ht TgfHd shvan g e e
farfta farerea o fAeTw Aaer= fora & fSi srgmifea farar man 1

Ans X1 g laTEl
25 2. Fae
o 3.1 2N
75 4 %Al
Question ID : 54062614766
Q.9 S .. srefifasr 3wt __ & forq ferar siTar 21

Ans

25 1. o & oy oft S, fererer o= & e el ot Ao
X 2. forelt &1k ST, EX. Y. Y o1 fae o o1 320 O ahe

o 3. 3 A e @ Ao
75 4. Rt 3 ARk &1 v 1fk e SIET @TITg

Question ID : 54062614751

Q.10 fa=faf@a d @ &9 S & aaTues T9Te hY Ia& 3 ATt hedn 87

Ans

1. STa o T @ Rl d o | gig h g 7 v g ao oifdes gfg gt 81
1. ST & & @ Fiaat J R | gig Hr goan & v g a ifdes &+t gt s 81

F SR
X 2. Fawll

of 3 aa
K aa@Iad

Question ID : 54062614750
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Q.11 faedfar Aro= & d@eof & fFrafaf@a 9 @ st a1 a8t 82

1. 88 h1de 3t fAefaar & 9T ) "o &1
I1. ffaan ofeRTeT Gaehich fAefAar & GuTa wenr o risfizan =i ot argan g1

Ans o 1 o i G
F R IR
/X 3. e |
75 4 Faa

Question ID : 54062614754

Q.12 gwg Yeura o fora fafa d aafmra wegr srar @2

Ans X 1. g ot o o farf Uil & forg sren-srerT gew age o §
fz.aam-mﬂeﬁﬁ@rm-wwaq@rm%
7K 3. 57 G & afRh & oIy Srem-3ren Hew age oI §
25 4. 519 SreT-31en Afnal § H Hed 9GRS §

Question ID : 54062614756

Q.13 fa=afaf@a & @ &= a1 ardsifes kot udy= 1 e fRgia 8?

. STdSIfeR T gehr=t Y AT e g gl
I1. af o1 @t 7 FET SN TRk WWATT HA ST 8, St a8 Harehife 0aT o ehdl g1

Ans X1 e |
X 2. Fawll
P A
v FREEITC)

Question ID : 54062614768

Q.14 fe=faf@a d @ &= 91 R R fArm g1 T sirar @2

. dufar =
1. guft iz efifmer e

Ans X gl
X 2. Fawll
X 3. Faa |
v FAES T

Question ID : 54062614769

Q.15 FET & FJHR, FeT ATATISR ATH 3’ Ahad &, STgT g ATANSNR AT ______ gl
Ans J‘I.glz;

X 2. g

75 3. fdemaw

X 4.um

Question ID : 54062614764
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Q.16 e srfegawt 7 '+ eed’ 2reg T g2ufar 82

1. srefemasar & #Y & g enfdfe Qur & doha
1. fARett srfeaaeut d HfY &= & faerd & dda

Ans X1 e |l

o 2 F=a

75 3. 1@ 1@
e

Question ID : 54062614753

Q.17 fr=afaf@a d @ fora R-weatht senfdeR dise &, Ta & a1 & T d ok gud sigardt &
=u § e heht 82

Ans X1g|—g—5v;ﬁga
X 2. Prager e fee
/X 3. gl Atea
o 4 R Ateat

Question ID : 54062614759

Q.18 fZuefig arfer & dgaf & fA=faf@a d @ i a1 w98l 82

. ITSTIR AT STgT Yeb IUTE oh forQ Ueh farghar SR Gk @ ieR ghat 21
1. fZuefta TarTfeRIR & T1Y SIStk G0 ofiR Iame ifAfdya &1
1. I kY Hrad iR 71 At vTa @ 97 g 81

Ans  of 1 il

X 2. Faall

/X 3@
F A

Question ID : 54062614761

Q.19 UhIART ZIRT WAL a1 I A & forg forafef@a & @ &t a1 adierT Sra=aT ST epar @
arfer & Iua | ufagZt IaT A uaer 9 & Jah?

Ans  off 1. gere O ar g R
25 2. St e ageE
75 3. g STl W AL SR e AT
7K 4. e e T ek IuEhT

Question ID : 54062614760
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Q.20 ¥R # a¥g Gd Aar &R (SATwdl) ol 17 et & a1 AT 82

Ans

. SAQEé & TR SR Tl TETHhR 3R FRETAT IFJUTAT | TR Tch TR A9 J Fgteast
& 3ufig 21

1. T & HHIST Al ger R a6t g urRa ffar @ AmiRent i A A & aR A 31fdep STt
farcft <t & aegeil a1 darg @died GHT WA FRA 1

25 1. Fa
X 2. e |
p A
v FREETC

Question ID : 54062614752

Section : Teaching Methodology

Q.1

Ans

When children start learning English, by which of the following ways a teacher can
present a new language orally to the children?

I. Through the children

1. Using a mascot
I1l. Puppets

o 1L and i
75 2.0nly|
25 3.1rand i
/X 4.0nlyl

Question ID : 54062614784

Q.2

Ans

a1 F gfruTidra siferaror foraent Sugi =2 TurasT aret S=u= & Rrdieha] a1 Aarsit
ugar & forg frar s eeRar &, ______ g/

1. sifonmm
1. gurfiar
1. guda

25 1. Fas
X 2. e |

o 3.1 Fe

X 4. Fawll

Question ID : 54062614780
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Q.3

Ans

Which of the following dominant approach(es) is/are followed by the theories and
practices of teaching - learning processes?

|. Behaviour Modification
1. Problem Solving

x1.0nlyl

o 2. Bothland I

x 3. Neither I nor i

/X 4.0nlyl

Question ID : 54062614770

Q.4
Ans

Which of the following is not correct about Inclusive Education?

X 1. It is based on social model of equality of opportunity
J 2. It is about building external strength
X 3. It is about mounting the confidence among the children

x 4.1t is all about effective learning by all the children

Question ID : 54062614772

Q.5 Learning of which of the following helps the child to perform different activities in

Ans

their real life?
I. Mathematics

Il. Science
11l. Social Science

o 1.1 iand il
X 2.1and i
/< 3.1andll
X 4.drand i

Question ID : 54062614771

Q.6

Ans

frafoafEa 7 @ @ a1/a sua ad 8/8?

.L'14+1=2;1+3=4;1+5=6;3+ 5=8... agl 1, 3, 5 faun a1 § aur 37 gt &1
afRorr arufd 2, 4, 6, 8 W T & | g HU I fafdy &Y garfar &1

1. ‘eredT & S T g1f & R 7 uerd 9wy, Uek fAerer A 1o ufara & g &Y atwon 6 srufa

{P uferara = [P/CP] x 100} | ag sy forma= faf &6t qarfar &1
¥ SRS
/X 2. e |
75 3. &l
P R A

Question ID : 54062614789
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Q.7 fr=fafla d @ wi9-a1/@ arearawr gd dare auT fAer wrdsa oi1/d ardeas Ig2d /8?2

1. 3r=eht vty femraaf, ey et sned, Taesdr S1ITH AT WU TETT ShIRA &l STHITT
]|
1. gt TR & forg o=t el Terd o aur ugviiler ud sifeister WTaT g1+ <kt @erar €1

Ans X1 e |
o 2. 13
P S EIE
X 4. Fawll

Question ID : 54062614781

Q.8 Which of the following statement (s) is/are not correct about environment studies?

I. 1t helps children develop a holistic understanding of their environment including
socio-cultural environment.

I1. It helps children in maintaining a multidisciplinary perspective to understanding of
our environmental issues.

Ans X" 1 Bothland Il

75 2.0nlyl

« 3. Neither I nor Il

75 4.0nly|

Q.9 Which of the following is/are the major language abilities that a teacher may asses
of the students?

I. Listening and speaking
1. Reading with comprehension

I1l. Writing
IV. Expression

Ans X" 1 land i

5 2.1, and IV
o 3.0 and v
/X 4.01and IV

Question ID : 54062614779

Q.10 fa=afaf@a d @ @19 91/ wy= famra & gy nfora & d&y o) gafar/gafa g/g?

1. Breptorfafy feret uda it Fars wra A 7 A @t g1
Il. argETa sewt @ ur=it o1 Fau=ic Wi ae SIar g1

Ans o 1 @l
X 2. e |
p < IR
X 4@t iEa

Question ID : 54062614782
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Q.11 Uak faenera a13 & forg iifaes arareror st @ Faiafd &R Jehdar 87

I. o9 o1 & a1 A & A | e gt g, 3% Ot S1ig ot Anfyy, sigt dieft Aot
AR WA LI
1. st @ feraferd g+ a1t o1 ot nferaR, f&shl a1 aRarst @ g1 og &= anfgul

Ans X1 argiaTEl
X 2. e |
W 3. 1@
X 4. el

Question ID : 54062614774

Q.12 afg faf = uerR &t arafiat o1 Iuai forar siran @, &t i off srear sifdmm ufshaT A g g &
I 1T | JURNh U ol HJE HeA & forg Uah fAere Feafef@a 9 | fora armft (wrafiat) o
IUANT ch TN 1 GHAT A el 22

1. = a1 widurs & wu A ga gt
1. an<afaen axgeil & ¥ A et armft| 3518 & forg, U sret s @1 IuAlT I6h
TOTt Y FHHAT & forg e

Ans o 1 ol Gt
X 2. e |
/X 3. Fawll

P R A

f— - — = - —

Question ID : 54062614773

Q.13 faafaf@a & @ &= 91/@ Y usq & 9k | 9@l g 8/8?

|. U UTS ) GHSIA & e g1 @, Sk dch duUT IHh UfRER &l Urei she1 gl
1. ua= forf@a gaam ot ueiienl @ oref ugor e 81

Ans X" 1| qur Il @t
75 2 Fad |
o 3 g g
25 4 FaE Il

Question ID : 54062614778

Q.14 f¥eafws & areq & wu A fafea wer arafiat o Iualn wd, a=ai w) srgure, T, v,
Brar ayT wAaraeeft wran fanfRa w3 & forg vieanfga forar smar anfge) fA=afafea d @
hi9-H) ag serr Tradft/amfiai g/8?

1. 9«
. &1
1. g

Ans X1 I qurl

X 2. Fawll

o 3. i
p A

Question ID : 54062614776
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Q.15 The problem solving ability of the learner is dependent on the acquisition of
knowledge.

Ans X1 cultural

x 2. historical

J 3. mathematical

x 4. social

Question ID : 54062614783

Q.16 Which of the following subject (s) comes under the semi social sciences branch of
social sciences?

I. Philosophy

1. Psychology
I1l. Ethics

Ans X" 1 land i

o 2.1 0and
75 3.0nly I
75 4.only

Question ID : 54062614786

Q.17 fA=faf@a d @ w17 @ g2a &er & Afos Rigia d?

1. uigwa
1. |ger=
1. grHs=
V. g

Ans X1 | lll@uTIV

o 21,11 nFEm v
p SRR ECHY
25 4 nar

Question ID : 54062614775

Q.18 fa=faf@a & @ &Y= a1 fAeror & quifares SuTTH &1 ATH &7
Ans X 1. <k it o it s P

75 2. T &) G i e e e &

/X 3. o1 & guy Riere ) AR wd §

o 4. v o iRerfeees oyt 3 A g A ST & R oRomREET AT Hfle
SHfeRTH g 3

Question ID : 54062614787
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Q.19 Education should be and

Ans ( 1. continuous; comprehensive
x 2. comprehensive; discontinuous
x 3. discontinuous; restricted

x 4. continuous; restricted

Question ID : 54062614777

Q.20 Which of the following is/are the similarity(es) between social sciences and social
studies?

I. Both are studied through pragmatic approach.
Il. Both seeks social utility.

Ans X1 Onlyll

J 2. Neither I nor i

/5 3.Both land Il

75 4.0nly|

Question ID : 54062614785
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